
PROFESSIONAL EXAMINATION BOARD
Group­3 Technical Selection Test 2016

3rd April 2016, 02:00 PM
Topic:­ G3_General Knowledge
1)

Question Stimulus :­

General Knowledge

Where is the “OmkareshwarJyotirlinga” situated in India? / “ओॠकॊरॕĀर Āख़ोतोल४ग” भॊरत म७ कऻॊँ ्Āथत ऻॖ?

Khandwa /  खॠडशॊ 

Ujjain /  उĀॖन

Pune /  पॏणॕ

Grishneshwar /  ঁ्ĀनॕĀर

Correct Answer :­Khandwa /  खॠडशॊ  

2)

Question Stimulus :­

General Knowledge

Name the institution being set up by the Government of India, to provide funding to the non­
corporate small business sector. / गॖर कॗपॳरॕट लघॏ ကशऺॊय ঴ॕআ म७ धन उपलĀ करॊनॕ कॕ ोलए भॊरत ऺरकॊर ကॊरॊ Āथॊोपत
ॠऺĀथॊ कॊ नॊम बतॊएॠ .

MUDRA Yojna /  मॏঈॊ यख़जनॊ



Jan­dhanYojna /  जन­धन यख़जनॊ

HRIDAY Yojna /  ॼदय यख़जनॊ.

JeevanJyoti Bema Yojna. /  जॎशन Āख़ोत बॎमॊ यख़जनॊ

Correct Answer :­MUDRA Yojna /  मॏঈॊ यख़जनॊ 

3)

Question Stimulus :­

General Knowledge

Where is the ‘Tansen Music Festival” organized in Madhya Pradesh? /  मĀ ঋदॕष म७ कऻॊँ पर “तॊनऺॕन  ॠऺगॎत
उĀश” आयख़ोजत ोकयॊ जॊतॊ ऻॖ?

Maihar /  मॖऻर

Gwalior /  ৖ॊोलयर

Khajuraho /  खजॏरॊऻख़

Chitrakoot /  ोचআकॐ ट

Correct Answer :­Gwalior /  ৖ॊोलयर 

4)

Question Stimulus :­

General Knowledge

Name the state which was separated from Madhya Pradesh on 1st November, 2000. /  उऺ रॊĀ कॊ नॊम



बतॊएॠ  जख़ मĀ ঋदॕष ऺॕ ͘ नशĀर, ͙͗͗͗ कख़ अलग ऻख़ गयॊ थॊ

Uttarakhand / उĀरॊखĀ

Chattisgarh / छĀॎऺगु

Jharkhand /  झॊरखĀ

Telangana /  तॕलॠगॊनॊ

Correct Answer :­Chattisgarh / छĀॎऺगु 

5)

Question Stimulus :­

General Knowledge

Name the first Indian sound film made by ArdeshirIrani in 1931. /  अद८ोषर ईरॊनॎ ကॊरॊ ͚͘͘͠ म७ ोनोम१त ঋथम
भॊरतॎय ऺशॊक चलोचআ कॊ नॊम बतॊएॠ

Raja Harishchandra /  रॊजॊ ऻौरĀက

AlamAra /  आलम आरॊ

KisanKanya /  ोकषन कĀॖयॊ

Pundalik /  पॏॠडोलक

Correct Answer :­AlamAra /  आलम आरॊ 

6)

Question Stimulus :­



General Knowledge

What is the national rank of Madhya Pradesh by its area? / मĀ ঋदॕष अपनॕ ঴ॕআफल कॕ आधॊर पर ोकतनॕ रॊĀ३ ॎय
঒ॕणॎ म७ ऻॖ?

1st / ͘लॕ

2nd / ͙रॕ

3rd / ͚रॕ

4th / ͛थॕ

Correct Answer :­2nd / ͙रॕ 

7)

Question Stimulus :­

General Knowledge

Name the new train service, announced in Rail Budget 2016, which includes Double Decker Air­
conditioned train. / रॕल बजट ͙͗͘͝ म७ घख़ोहत उऺ रॕलगॊीॎ कॊ नॊम बतॊए जख़ डबल डॕकर (दख़ मॠोिलॎ) शॊतॊनॏकॐ ोलत रॕलगॊीॎ म७
षॊोमल ऻॖ

Antyodaya / अॠतख़दय

Tejas / तॕजऺ

Humsafar / ऻमऺूर

UDAY / उदय

Correct Answer :­UDAY / उदय 



8)

Question Stimulus :­

General Knowledge

What is the name of the mobile app launched by Madhya Pradesh state government for teachers/
/ .मĀ ঋदॕष रॊĀ ऺरकॊर ကॊरॊ ोष঴कख़ॠ कॕ ोलए षॏॺ कॎ ॽई मख़बॊइल अनॏঋयख़गख़ ॠ कॊ नॊम ভॊ ऻॖ?

E­Shiksha­Mitra / ई­ोष঴ॊ­ोमআ

Shiksha­Mitra­app / ोष঴ॊ­ोमআ ऐप

M­Shiksha –Mitra / एम­ोष঴ॊ­ोमআ

Apps­for­teacher / ोष঴कख़ कॕ ोलए अनॏঋयख़गख़ ॠ

Correct Answer :­M­Shiksha –Mitra / एम­ोष঴ॊ­ोमআ 

9)

Question Stimulus :­

General Knowledge

Which among the following is NOT a fat soluble vitamin? / ोनĀॊॠोकत म७ ऺॕ कग़न ऺॊ ोशटॊोमन शॊऺॊ म७ घॏलनषॎल
नऻॎ ॠ ऻॖ?

Vitamin A /  ोशटॊोमन A

Vitamin C / ोशटॊोमन C

Vitamin E /  ोशटॊोमन E



Vitamin D /  ोशटॊोमन D

Correct Answer :­Vitamin C / ोशटॊोमन C 

10)

Question Stimulus :­

General Knowledge

When did the Madhya Pradesh state come into existence? / मĀ ঋदॕष रॊĀ कब अ्Āက म७ आयॊ थॊ?

1st November 1956 / ͘नशĀर ͘͜͠͝

11th November 1956 / ͘͘नशĀर ͘͜͠͝

1st December 1956 / ͘ ोदऺĀर ͘͜͠͝

11th December 1956 / ͘͘ ोदऺĀर ͘͜͠͝

Correct Answer :­1st November 1956 / ͘नशĀर ͘͜͠͝ 

11)

Question Stimulus :­

General Knowledge

Where is the ‘Eden Garden cricket stadium’ located in India? /  “ईडन गॊड१न ोॿकॕट Āॕोडयम” भॊरत म७ कऻॊँ
्Āथत ऻॖ?

New Delhi /  नई ोदĀॎ

Kolkata /  कख़लकॊतॊ



Cuttack /  कटक

Bangalore /  बॠगलग़र

Correct Answer :­Kolkata /  कख़लकॊतॊ 

12)

Question Stimulus :­

General Knowledge

When is the World Wildlife Day observed? /  ोशĀ शကजॎश ोदशऺ कब मनॊयॊ जॊतॊ ऻॖ?

1st March /  ͘ मॊच१

2nd March /  ͙ मॊच१

3rd March /  ͚ मॊच१

4th March /  ͛ मॊच१

Correct Answer :­3rd March /  ͚ मॊच१ 

13)

Question Stimulus :­

General Knowledge

What ‘Gurudakshina’ did Dronacharya ask from Ekalavya? / ঈख़णॊचॊय१ नॕ एकलက ऺॕ “गॏॹदो঴णॊ” म७ ভॊ मॊँगॊ
थॊ?

Right index finger /  दॊोऻनॎ तोज१नॎ ऊँगलॎ



Right thumb / दॊोऻनॊ अॠगॐठॊ

Left thumb /  बॊयॊँ अॠगॐठॊ

Left index finger /  बॊयॎ ॠ तोज१नॎ ऊँगलॎ

Correct Answer :­Right thumb / दॊोऻनॊ अॠगॐठॊ 

14)

Question Stimulus :­

General Knowledge

Where will the world’s largest 750MW solar power station come into existence? /  दॏोनयॊ कॊ ऺबऺॕ बीॊ
͗͜͞एम डĀॐ ऺग़र उजॊ१ Āॕषन (Āथॊन कऻॊँ ऻ॰?

Neemuch /  नॎमॏच

Satna / ऺतनॊ

Jhansi / झॊॠऺॎ

Rewa / रॕशॊ

Correct Answer :­Rewa / रॕशॊ 

15)

Question Stimulus :­

General Knowledge

Which one of the medicinal system does not come under “AYUSH”, a government body in India?
/ औहधॎय ঋणॊलॎ म७ ऺॕ कग़न भॊरत ऺरकॊर कॕ ोनकॊय “आयॏह” कॕ अॠतग१त नऻॎ ॠ आतॊ ऻॖ?

Allopath / एĀख़पॖथॎ



Allopath / एĀख़पॖथॎ

Homoeopathy /  ऻख़ोमयख़पॖथॎ

Yoga /  यख़ग

Unani /  यॐनॊनॎ

Correct Answer :­Allopath / एĀख़पॖथॎ 

Topic:­ G3_General Hindi
1)

Question Stimulus :­

Hindi

अनॕक षĀख़ॠ कॕ ोलए एक षĀ कॊ चयन कर७­ नॊटक कॕ खॕलनॕ कॊ Āथॊन

रॠगभॐोम

नॕपĀ

रॠगमॠच

नॊटकग॑ऻ

Correct Answer :­रॠगमॠच 

2)

Question Stimulus :­

Hindi

तĀम षĀख़ॠ कॊ मॐल ঔख़त ऻॖ­



तĀम षĀख़ॠ कॊ मॐल ঔख़त ऻॖ­

अप঎ॠष

ॠऺĀ॑त

पॊोल

इनम७ ऺॕ कख़इ१ नऻॎ ॠ

Correct Answer :­ ॠऺĀ॑त 

3)

Question Stimulus :­

Hindi

‘म॰ नॎर भरॎ दॏ:ख कॎ बदलॎ’ ोकऺ कोश/कशोयআॎ कॎ रचनॊ ऻॖ­

ॏऺभঈॊकॏ मॊरॎ चग़ऻॊन

मऻॊदॕशॎ शमॊ१

मॎरॊबॊइ१

इनम७ ऺॕ कख़इ१ नऻॎ ॠ

Correct Answer :­मऻॊदॕशॎ शमॊ१ 

4)

Question Stimulus :­



Hindi

ोनĀ षĀ कॕ तॎन अनॕकॊथ५ षĀ ऻ॰; जख़ षĀ इऺ ঒ॕणॎ म७ नऻॎ ॠ आतॕ ऻ॰ उऺॕ चॏोनए­ ऺॊरॠग

ऺप१

ो ॠऺऻ

भग़ ॠरॊ

शॊदक

Correct Answer :­शॊदक 

5)

Question Stimulus :­

Hindi

नॎचॕ एक षĀ ोदयॊ गयॊ ऻॖ। ोदए गए ोशकĀख़ॠ म७ ऺॕ पयॊ१यशॊचॎ षĀ चॏोनए­

अॺण

ঋॊत: कॊल

कॏ कॏ ट

ॐऺय१

कमल

Correct Answer :­ ॐऺय१ 



6)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ षॏĀ शॊভ कॊ चयन कॎोजए­

चरखॊ कॊतनॊ चॊोऻए

चरखॕ कख़ कॊतनॊ चॊोऻए

चरखॕ ऺॕ कॊतनॊ चॊोऻए

चरखॊ चलॊनॊ चॊोऻए

Correct Answer :­चरखॊ चलॊनॊ चॊोऻए 

7)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀ कॕ आगॕ चॊर षĀ ोदए गए ऻ॰। इनम७ ऺॕ उोचत ऺमॊनॊथ१क पयॊ१य चॏनकर ोच Āो्त कर७­ अतॎत

आनॕ शॊलॊ

बॎतॊ ॽआ

आगम

आरĀ

Correct Answer :­बॎतॊ ॽआ 



8)

Question Stimulus :­

Hindi

‘गॏॺ’ षĀ कॊ ोशलख़म ऻख़गॊ­

ोशĀ॑त

बीॊ

लघॏ

ोशषॊल

Correct Answer :­लघॏ 

9)

Question Stimulus :­

Hindi

‘पĀॊशत’ मऻॊकॊက कॎ रचनॊ ोकऺनॕ कॎ ऻॖ?

ॐऺरदॊऺ

ोशĀॊपोत

मोलक मॏऻĀद जॊयऺॎ

कॏ तॏबन



Correct Answer :­मोलक मॏऻĀद जॊयऺॎ 

10)

Question Stimulus :­

Hindi

‘दॎपॊशलॎ’ षĀ कॊ  ॠऺोध ोशৢॕद ऻख़गॊ

दॎपॊ + शलॎ

दॎप + अलॎ

दॎप + आशलॎ

दॎप + अशलॎ

Correct Answer :­दॎप + अशलॎ 

11)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ कग़न उपऺग१ रोऻत षĀ ऻॖ?

ॏऺरॕष

ॏऺयख़ग

अĀोधक

ोशदॕष



Correct Answer :­ ॏऺरॕष 

12)

Question Stimulus :­

Hindi

‘दॕषभ्ঢ’ म७ ऺमॊऺ ोनोद१Ā कॎोजए­

तĀॏॺह

बॽ঍ॎोऻ

ोကगॏ

कम१धॊरय

Correct Answer :­तĀॏॺह 

13)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ ऺॕ कग़न ऺॊ षĀ षॏĀ ऻॖ­

Āऺॊन

ऺमऺॊन

Āषॊन

Āऺॊन



Correct Answer :­Āषॊन 

14)

Question Stimulus :­

Hindi

ोनĀोल्खत मॏऻॊशर७  कॊ ऺऻॎ ोशकĀ चॏनॕ­ गॐलर कॊ फॐ ल ऻख़नॊ

ॏऺग्Āत ऻख़नॊ

फॐ ल कॎ तरऻ ्खलनॊ

दॏल१भ ऻख़नॊ

अोत ঋऺĀ ऻख़नॊ

Correct Answer :­दॏल१भ ऻख़नॊ 

15)

Question Stimulus :­

Hindi

पॏन: + ोशशॊऻ म७  ॠऺोध ऻख़गॎ­

पॏन१ोशशॊऻ

पॏनरोशशॊऻ                        

पॏन१ोश१शॊऻ

पॏनोश१शॊऻ



Correct Answer :­पॏनोश१शॊऻ 

Topic:­ G3_General English
1)

Question Stimulus :­

English

Complete the idiom:

He will help his brother. Blood is thicker than ____________.

relations

friendship

ego

water

Correct Answer :­water 

2)

Question Stimulus :­

English

Fill in the blank.

The police _____________ a thief this morning.

arrests

arrested



have arrested

arrest

Correct Answer :­arrested 

3)

Question Stimulus :­

English

Identify the given sentence.

He couldn’t complete his work because the bank was closed.

Complex

Compound

Simple

Exclamatory

Correct Answer :­Complex 

4)

Question Stimulus :­

English

What does this idiom mean?

‘Cry wolf’



Shout in anger

Tease someone

Raise false alarm

Attack someone

Correct Answer :­Raise false alarm 

5)

Question Stimulus :­

English

What is the antonym of: praise

Approval

Cheers

Compliment

Abuse

Correct Answer :­Abuse 

6)

Question Stimulus :­

CANCELLED

English



What is the synonym of: merit

Worth

Value

Flaw

Excellence

Correct Answer :­Excellence 

7)

Question Stimulus :­

English

Identify the given sentence.

Wow! What a beautiful picture!

Simple

Exclamatory

Interrogative

Declarative

Correct Answer :­Exclamatory 

8)

Question Stimulus :­



English

Find the odd word out.

New, ancient, novel, fresh

New

Ancient

Novel

Fresh

Correct Answer :­Ancient 

9)

Question Stimulus :­

English

What is the synonym of: torture

Agony

Soothe

Ease

Comfort

Correct Answer :­Agony 

10)



Question Stimulus :­

English

What does this idiom mean?

‘Piece of cake’

Something very easy

Something soft

Something sweet

Something very pretty

Correct Answer :­Something very easy 

11)

Question Stimulus :­

English

Which of the below given words is spelt correctly?

Harass

Haarass

Harrass

Haras

Correct Answer :­Harass 



12)

Question Stimulus :­

English

Find the odd word out.

Tiny, minute, little, massive

Tiny

Minute

Little

Massive

Correct Answer :­Massive 

13)

Question Stimulus :­

English

The antonym of the word ‘CONTENT’ is:

happy

matter

enclosure

dissatisfied



Correct Answer :­dissatisfied 

14)

Question Stimulus :­

English

Fill in the blank.

He ________________ my car when this happened.

repairs

was repairing

repair

has repaired

Correct Answer :­was repairing 

Topic:­ G3_General Maths
1)

Question Stimulus :­

Maths

Everyday Ramesh walks to his office at a speed of 2 km/hr and returns at a speed of 3 km/hr. If he
takes 5 hours in his to and fro journey, how far is his office from his home? / ऻर रख़ि रमॕष ͙ ोकमॎ/घॠटॕ
कॎ रĀॊर ऺॕ चलतॕ ॽए अपनॕ कॊयॊ१लय जॊतॊ ऻॖ और ͚ ोकमॎ/घॠटॕ कॎ रĀॊर ऺॕ शॊपऺ लग़टतॊ ऻॖ|अगर शऻ कॊयॊ१लय आनॕ और जॊनॕ कॕ
ोलए ͜ घॠटॕ लॕतॊ ऻॖ तख़ उऺकॕ घर ऺॕ उऺकॊ कॊयॊ१लय ोकतनॎ दॐ र ऻॖ?

12 Kms / ͙͘ ोकमॎ



6 Kms / ͝ ोकमॎ

5 Kms / ͜ ोकमॎ

3 Kms / ͚ ोकमॎ

Correct Answer :­6 Kms / ͝ ोकमॎ 

2)

Question Stimulus :­

Maths

There are 3 children in the Khanna’s family and it is known that there is at least 1 girl among the 3
children. What is the probability that all 3 of them are girls? / खĀॊ पौरशॊर म७ ͚ बৡॕ ऻ॰ और उन ͚ बৡख़ॠ म७ एक
लीकॎ कॕ कॊरण जॊनॊ जॊतॊ ऻ॰|अनॏमॊन लगॊएँ ोक ভॊ शख़ तॎनख़ लडोकयॊँ ऻॎ ऻ॰?

1/7 / ͘/͞

1/8 / ͘/͟

1/6 / ͘/͝

2/7 / ͙/͞

Correct Answer :­1/7 / ͘/͞ 

3)

Question Stimulus :­

Maths

If 3y + 3­y = 2, what can be the value of y2? / अगर ͚y + ͚­y = ͙ ऻख़गॊ, तख़ y2 कॊ मॊन ভॊ ऻख़गॊ?



0 / 0

1 / ͘

4 / ͛

9 / ͠

Correct Answer :­0 / 0 

4)

Question Stimulus :­

Maths

What is the mean proportion between 180 and 125? / ͗͘͟ और ͙͘͜ कॕ बॎच कॊ अनॏपॊोतक मॊन ভॊ ऻॖ?

135 / ͚͘͜

115 / ͘͘͜

150 / ͗͘͜

159 / ͘͜͠

Correct Answer :­150 / ͗͘͜ 

5)

Question Stimulus :­

Maths

If one of the factor of 2x2 – 11x + 12 is (x – 4), what is the other factor? /  अगर ͙x2 – ͘͘x + ͙͘ कॊ एक
गॏणक (x – ͛)ऻॖ, तख़ उऺकॊ अက गॏणक ভॊ ऻख़गॊ?



गॏणक (x – ͛)ऻॖ, तख़ उऺकॊ अက गॏणक ভॊ ऻख़गॊ?

(2x + 3) / (͙x + ͚)   

(2x – 3) / (͙x – ͚)

(2x + 4) / (͙x + ͛)

(2x – 5) / (͙x – ͜)

Correct Answer :­(2x – 3) / (͙x – ͚) 

6)

Question Stimulus :­

Maths

Ankita earns 25% more than Binita. Cindy earns 10% less than Binita. Which of the following
statement is true regarding the earnings of Ankita and Cindy in terms of percentage? / अॠोकतॊ ोबनॎतॊ
ऺॕ ͙͜% Āॊदॊ कमॊतॎ ऻॖ|ोकॠ दॎ ोबनॎतॊ ऺॕ ͗͘%कम कमॊतॎ ऻॖ|अॠोकतॊ और ोकॠ दॎ कॕ कमॊनॕ कॕ ঋोतषत कॕ  ॠऺबॠध म७ कग़न ऺॊ कथन
ऺऻॎ ऻॖ?

Ankita earns 35% more than Cindy / अॠोकतॊ ोकॠ दॎ ऺॕ ͚͜% Āॊदॊ कमॊतॎ ऻॖ

Cindy earns 35% less than Ankita / ोकॠ दॎ अॠोकतॊ ऺॕ ͚͜% कम कमॊतॎ ऻॖ

Ankita earns 38.88% more than Cindy / अॠोकतॊ ोकॠ दॎ ऺॕ ͚͟.͟͟% Āॊदॊ कमॊतॎ ऻॖ

Cindy earns 10% less than Ankita / ोकॠ दॎ अॠोकतॊ ऺॕ 10% कम कमॊतॎ ऻॖ

Correct Answer :­Ankita earns 38.88% more than Cindy / अॠोकतॊ ोकॠ दॎ ऺॕ ͚͟.͟͟% Āॊदॊ कमॊतॎ ऻॖ 

7)



Question Stimulus :­

Maths

Which one of the following is not a natural number? / इनम७ ऺॕ कग़न ঋॊक॑त  ॠऺূॊ नऻॎ ॠ ऻ॰?

11 / ͘͘

9 / ͠

0 / 0

6 / ͝

Correct Answer :­0 / 0 

8)

Question Stimulus :­

Maths

What is the Highest Common Factor of 14xy3, 22x2y and 26x3y4? / ͛͘xy3, ͙͙x2y और ͙͝x3y4 कॊ ऺबऺॕ
बीॊ ऺॊमॊက गॏणक ভॊ ऻॖ?

2xy2 / ͙xy2

2x2y /  ͙x2y

3xy /  ͚xy

2xy / ͙xy

Correct Answer :­2xy / ͙xy 



9)

Question Stimulus :­

Maths

On root of the equation 2x2 – 10x + γ = 0 is 4. What is the value of γ/2? / ͙x2 – ͗͘x + γ = ͗ इऺ
ऺमॎकरण कॊ मॐल ͛ ऻॖ| γ/͙ कॊ मॊन ভॊ ऻख़गॊ?

4 / ͛

3 / ͚

1 / ͘

2.5 / ͙.͜

Correct Answer :­4 / ͛ 

10)

Question Stimulus :­

Maths

Mansi obtained 90 in Mathematics, 76 in Chemistry, 85 in Physics, 64 in English and 72 in Statistics.
The weights given to the respective subjects are in the ratio of 3 : 2 : 2 : 1 : 2. What is her weighted
average score in all subjects? / मॊनऺॎ गोणत म७ ͗͠,रऺॊयन म७ ͞͝,भग़ोतक ोशĀॊनॠ म७ ͟͜,अॠঁॕजॎ म७ ͛͝ और ऺॊॠ्खोयकॎ म७
͙͞ अॠक ঋॊĀ करतॎ ऻॖ| ॠऺबॠोधत ोशहयख़ ॠ कॕ ोलए ोदए गए अनॏपॊत ͚:͙:͙:͘:͙ ऻ॰|उऺकॕ ऺॊरॕ ोशहयख़ ॠ कॎ गणनॊ कॊ औऺत ोनकॊल७

79 / ͞͠

80 / ͗͟



82 / ͙͟

78 / ͟͞

Correct Answer :­80 / ͗͟ 

11)

Question Stimulus :­

Maths

Three consecutive angles of a quadrilateral are 70o, 80o and 110o respectively. What is the
measure of the fourth angle? /  एक चतॏभॏ१ज तॎन अनॏगॊमॎ कख़ण ͗͗͞, ͗͗͟और ͗͗͘͘ॿमषॡ ऻ॰। चग़थॕ कख़ण कॊ मॊप ভॊ
ऻख़गॊ?

90o / ͗͗͠

110o / ͗͘͘o

100o / ͗͗͗͘

125o / ͙͗͘͜

Correct Answer :­100o / ͗͗͗͘ 

12)

Question Stimulus :­

Maths

Radhe Shyam purchases 11 apples for Rs. 100 and sells 10 apples for Rs. 110. How much
profit/loss does he make over the two transactions? / रॊधॕĀॊम ͘͘ ऺॕब ͗͗͘ ॹपयॕ म७ खरॎदतॊ ऻॖ और ͗͘͘ ॹपयॕ म७
बॕचतॊ ऻॖ|इन दख़ लॕनदॕन म७ शऻ ोकतनॊ लॊभ/ऻॊोन ঋॊĀ करतॊ ऻॖ?



बॕचतॊ ऻॖ|इन दख़ लॕनदॕन म७ शऻ ोकतनॊ लॊभ/ऻॊोन ঋॊĀ करतॊ ऻॖ?

19% Profit / ͘͠%लॊभ

21% Loss / ͙͘%ऻॊोन    

1.9% Loss / ͘.͠%ऻॊोन

21% Profit / ͙͘%लॊभ

Correct Answer :­21% Profit / ͙͘%लॊभ 

13)

Question Stimulus :­

Maths

Ms. Ankita invested Rs. X with a bank paying 10.5% simple interest per annum for 4.67 years and
Rs. X grows to Rs. 3576 during this period. In how many years Rs. X would have become Rs. 2 X if
invested at the same interest rate? /   ॏऺ঒ॎ अॠोकतॊ एक ब॰क म७ 10.5% ঋोतशह१ ऺॊधॊरण Āॊज भॏगतॊन कॕ ऺॊथ 4.67
ऺॊल कॕ ोलए Rs. एস म७ ोनशॕष करतॎ ऻॖ और इऺ अशोध कॕ दग़रॊन x ॹपयॊ 3576 ॺपयॕ म७ बु जॊतॊ ऻॖ। अगर एक ऻॎ Āॊज दर पर
ोनशॕष करतॎ ऻॖ तख़ ोकतनॕ ऺॊल एস म७ 2 एস बन जॊयॕगॊ?  

9 years / ͠ ऺॊल म७ 

9 11/13 years / ͠ ͘͘/͚͘ ऺॊल म७

9 11/21 years / ͠ ͘͘/͙͘ ऺॊल म७

11 9/11 years / ͘͘͠/͘͘ ऺॊल म७

Correct Answer :­9 11/21 years / ͠ ͘͘/͙͘ ऺॊल म७ 



14)

Question Stimulus :­

Maths

What is the median of the following set of numbers: 70, 40, 100, 150, 70, 30, 50, 20, 90, 120? /  इन
ोनĀोल्खत  ॠऺূॊओॠ कॊ मॊĀ ভॊ ऻख़गॊ:͗͞,͛͗,͗͗͘,͗͘͜,͗͞,͚͗,͗͜,͙͗,͗͠,͙͗͘?

50 / ͗͜

70 / ͗͞

67.5 / ͝͞.͜

90 / ͗͠

Correct Answer :­70 / ͗͞ 

Topic:­ G3_General Reasoning
1)

Question Stimulus :­

Reasoning

Sanjai was standing in front of a pole on a very fine morning after sunrise and pole’s shadow was
to his exact right. Based upon this information, which direction was Sanjai facing? /   ॠऺजय  ॐऺयॳदय कॕ
बॊद एक खĀॕ कॕ ऺॊमनॕ खीॊ थॊ और खĀॕ कॎ परछॊई उऺकॕ दॊॠयॕ पी रऻॎ थॎ| इन जॊनकॊौरयख़ ॠ कॕ आधॊर पर, ॠऺजय ोकऺ ोदषॊ म७
खीॊ थॊ?

North / उĀर

South / दो঴ण



East / पॐरब

West / पोĀम

Correct Answer :­South / दो঴ण 

2)

Question Stimulus :­

Reasoning

In a certain code, MADRAS is written as NBESBT. How would BOMBAY be coded in such coding
system? / ोकऺॎ  ॠऺकॕतॊशलॎ म७ मঈॊऺ(MADRAS) कख़ एनबॎइएऺबॎटॎ(NBESBT) ोलखॊ जॊतॊ ऻॖ. उऺॎ  ॠऺकॕतॊशलॎ म७
बख़Āॕ(BOMBAY ) कख़ कॖऺॕ ोलख७गॕ?

CPNCBZ / ऺॎपॎएनऺॎबॎजॕड

NBPTBV / एनबॎपॎटॎबॎशॎ

ESBNBP / इएऺबॎएनबॎपॎ

BPNCNY / बॎपॎएनऺॎएनशॊई

Correct Answer :­CPNCBZ / ऺॎपॎएनऺॎबॎजॕड 

3)

Question Stimulus :­

Reasoning

 Ajay is Bhanu’s uncle. Chandni is Bhanu’s wife and their son’s name is Dhawal who has a sister
named Esha. How is Ajay related to Esha? / अजय भॊनॏ कॊ चॊचॊ ऻॖ|चॊॠदनॎ भॊनॏ कॎ पĀॎ ऻॖ और उऺकॕ बॕटॕ कॊ नॊम
धशल ऻॖ ोजऺकॎ बऻन कॊ नॊम एषॊ ऻॖ| तख़ अजय और एषॊ म७ ভॊ  ॠऺबॠध ऻॖ? 



Uncle / चॊचॊ

Father / ोपतॊ

Grand Uncle / चचॕरॕ दॊदॊ

Grand Father / दॊदॊ

Correct Answer :­Grand Uncle / चचॕरॕ दॊदॊ 

4)

Question Stimulus :­

Reasoning

Find the angle between minute and the hour hands when the clock strikes 3:25? / घीॎ कॎ ोमनट भॏजॊ
और घॠटॊ भॏजॊओॠ कॕ बॎच कॊ कख़ण Āॊत कर७  जब घीॎ म७ ͚:͙͜ बजतॕ ऻ॰.?

47.5 degrees / ͛͞.͜ ोडঁॎ

55 degrees / ͜͜ ोडঁॎ

60 degrees / ͗͝ ोडঁॎ

40 degrees / ͛͗ ोडঁॎ

Correct Answer :­47.5 degrees / ͛͞.͜ ोडঁॎ 

5)

Question Stimulus :­

Reasoning



Statements 1, 2 and 3 given below are followed by conclusions I, II, III and IV. From the options
given below, find out the conclusions which are automatically derived from the statements. /   नॎचॕ
ोदए गए कथन ͘,͙ और ͚ कॊ ोनĀह१   I, II, III और IV ऻॖ| नॎचॕ ोदए गए ोशकĀख़ॠ म७ ऺॕ शऻ ोनĀह१ ोनकॊल७ जख़ कथनख़ ॠ ऺॕ Āयॠ
उद्ध॑ त ऻॖ.

Statement: / कथन:

1. No blanket is sheet / कख़ई पআ  चॊदर नऻॎ ॠ ऻॖ
2. Some boxes are sheets /  कॏ छ ोडကॕ पআ ऻ॰
3. All cars are boxes / ऺॊरॕ कॊर ोडကॕ ऻ॰

Conclusions: / ोनĀह१:

I. No car is blanket / कॊर चॊदर नऻॎ ॠ ऻॖ
II. Some cars are sheets /  कॏ छ कॊर चॊदर ऻॖ
III. No sheet is car / चॊदर यॊन नऻॎ ॠ ऻॖ
IV. Some blankets are boxes / कॏ छ चॊदर ोडကॕ ऻॖ 

Only III follows / ोऺफ१  ͚ कॕ ऺॊथ

Only I follows / ोऺफ१  ͘ कॕ ऺॊथ

Either I or III follows / यॊ तख़ ͘ यॊ ͚ कॕ ऺॊथ

None of these follows / इनम७ ऺॕ ोकऺॎ कॕ ऺॊथ नऻॎ ॠ

Correct Answer :­None of these follows / इनम७ ऺॕ ोकऺॎ कॕ ऺॊथ नऻॎ ॠ 

6)

Question Stimulus :­

Reasoning

A dice with different sides labeled as A, B, C, D, E and F respectively has been rolled thrice. All three



positions are shown in the images (i), (ii) and (iii) below. Which of the following would be lying
opposite A on the dice? /  एक पॊऺॊ ोजऺकॕ ोशोभĀ प঴ख़ ॠ कख़ ॿमषॡ A, B, C, D, E और F ऺॕ ोच्Āत ोकयॊ गयॊ ऻॖ, कख़ तॎन
बॊर घॏमॊयॊ जॊतॊ ऻॖ. ऺभॎ तॎन ्Āथोतयॊँ नॎचॕ ोदए गए ोचআ ͘, ͙ और ͚ म७ दषॊ१ए गए ऻ॰. ोनĀॊॠोकत म७ ऺॕ कग़न ऺॊ भॊग  पॊऺॕ पर A कॕ
ोशपरॎत ोदषॊ म७ आयॕगॊ.

C / C

D / D

E / E

F / F

Correct Answer :­E / E 

7)

Question Stimulus :­

Reasoning

What will be the day on 8thDecember 2006 if the day on 8th December 2007 was Saturday? / ͟ ोदऺĀर
͙͗͗͝ कख़ कग़न ऺॊ शॊर ऻख़गॊ अगर ͟ ोदऺĀर ͙͗͗͞ कख़ षोनशॊर थॊ?

Saturday / षोनशॊर

Friday / षॏॿशॊर



Monday / ऺख़मशॊर

Tuesday / मॠगलशॊर  

Correct Answer :­Friday / षॏॿशॊर 

8)

Question Stimulus :­

Reasoning

Statements 1 and 2 given below are followed by conclusions I and II. From the options given
below, find out the conclusions which can be automatically derived from the statements / कथन ͘ और
͙ कॕ बॊद नॎचॕ ोनĀह१ क और ख ोदए गए ऻ॰. नॎचॕ ोदए गए ोशकĀख़ॠ ऺॕ उन ोनĀहॵ कख़ ढॐ ॠढॕ जख़ कथनख़ ॠ ऺॕ ोनकॊलॕ गए ऻ॰.

Statement / कथन

 

1. All dogs are monkey / ऺॊरॕ कॏ Āॕ बĀर ऻ॰

       2.No monkey is a cat / कख़ई भॎ बĀर ोबĀॎ नऻॎ ॠ ऻॖ

     Conclusion / ोनĀह१
     1.No dog is cat / (क)कख़ई कॏ Āॊ ोबĀॎ नऻॎ ॠ ऻॖ.
     2.No cat is a dog / (ख)कख़ई ोबĀॎ कॏ Āॊ नऻॎ ॠ ऻॖ.

Only conclusion I follows / मॊআ ोनĀह१ क 

Only conclusion II follows /  मॊআॊ ोनĀह१ ख

Either I or II follows / ोनĀह१ क यॊ ख

Both I and II follows / दख़नख़ ॠ ोनĀह१ क एशॠ ख



Correct Answer :­Both I and II follows / दख़नख़ ॠ ोनĀह१ क एशॠ ख 

9)

Question Stimulus :­

Reasoning

Find the missing number of the following series:

512, 256, 128, ?, 32, 16, 8 /  ोनĀॊॠोकत ঒॑ॠखलॊ कॎ लॊपतॊ  ॠऺূॊ कख़ Āॊत कर७ :

͙͘͜, ͙͜͝, ͙͘͟, ?, ͚͙, ͘͝, ͟

52 / ͙͜ 

61 / ͘͝ 

64 / ͛͝

56 / ͜͝

Correct Answer :­64 / ͛͝ 

10)

Question Stimulus :­

Reasoning

During a single day, how many times do the hands of a clock overlap each other? / एक ोदन म७ घीॎ कॎ
ॏऺइयॊँ ोकतनॎ बॊर परĀर­अोतကॊĀ ऻख़तॎ ऻ॰?

20 / ͙͗



22 / ͙͙

24 / ͙͛

21 / ͙͘

Correct Answer :­22 / ͙͙ 

11)

Question Stimulus :­

Reasoning

Choose the group of letters from following options that would take place of the question mark (?)
in the alphabet series given below:

 BD  CEF  DFGH  ? /  नॎचॕ ोदए गए शण१ ॿम कॕ ोलए उन शणॵ कॕ ऺमॐऻ कख़ चॏनॕ जख़ ঋĀशॊचक ोचĀ कॊ Āथॊन ঁऻण कर ऺकतॎ ऻॖ.

BD  CEF  DFGH  ?

EGHIJ / EGHIJ इोजएचआइजॕ

EGHI / EGHI  इोजएचआइ

EFGHI / EFGHI इएफोजएचआइ

EGHIJK / EGHIJK  इोजएचआइजॕकॕ

Correct Answer :­EGHIJ / EGHIJ इोजएचआइजॕ 

12)

Question Stimulus :­



CANCELLED

Reasoning

What can be the maximum number of years after which another leap year takes place? /  अोधक
शह१(लॎप शह१) कॎ अोधकतम अशोध ोकतनॕ शहॵ कॎ ऻख़तॎ ऻॖ?

4 years / ͛ शह१

2 years / ͙ शह१

8 years / ͟ शह१

1 year / ͘ शह१

Correct Answer :­8 years / ͟ शह१ 

13)

Question Stimulus :­

Reasoning

AxB means A is the sister of B, A/B means A is the daughter of B, A­B means A is the son of B. On
the basis of this information you have to tell, how is P related to S in the relationship P­QXR/S?
/ AxB कॊ मतलब ऻॖ A B कॎ बऻन ऻॖ, A/B कॊ अथ१ ऻॖ A B कॎ बॕटॎ ऻॖ, A­B कॊ मतलब ऻॖ A B कॊ बॕटॊ ऻॖ. इन  ॐऺचनॊओॠ कॕ आधॊर
पर आपकख़ बतॊनॊ ऻॖ ोक P कॊ S ऺॕ ভॊ  ॠऺबॠध ऻॖ जऻॊँ­: P­QXR/S?

Brother / भॊई

Son / बॕटॊ

Grandson / पख़तॊ



Daughter’s Son /  बॕटॎ कॊ बॕटॊ

Correct Answer :­Daughter’s Son /  बॕटॎ कॊ बॕटॊ 

14)

Question Stimulus :­

Reasoning

How many N’s are there in the following series, which are neither followed by M nor preceded by R?

MNRRMNSTNMRRMNQLNMRMNQPLNMRMNR /  ोनĀॊॠोकत ঒ॠखलॊ म७ ोकतनॕ ‘N’ ऻॖ ोजनकॕ बॊद म७ नॊ तख़ M ऻॖ और नॊऻॎ ॠ
उनकॕ पऻलॕ R ऻॖ.

8 / ͟

3 / ͚

1 / ͘

2 / ͙

Correct Answer :­8 / ͟ 

Topic:­ G3_General Science
1)

Question Stimulus :­

General Science

Who is the Minister of State (Independent) for New & Renewable Energy, Government of India? /
भॊरत ऺरकॊर कॕ नशॎन और नशॎकरणॎय ऊजॊ१ कॕ रॊĀ मॠআॎ (Āतॠআ) कग़न ऻ॰?



Mr. Piyush Goyal / ঒ॎ ोपयॐह गख़यल

Ms. Maneka Gandhi /  ॏऺ঒ॎ मॕनकॊ गॊॠधॎ

Ms. Uma Bharti /  ॏऺ঒ॎ उमॊ भॊरतॎ

Mr. Rajiv Pratap Rudy / ঒ॎ रॊजॎश ঋतॊप ॺडॎ

Correct Answer :­Mr. Piyush Goyal / ঒ॎ ोपयॐह गख़यल 

2)

Question Stimulus :­

General Science

Which of the following reacts with Glass? / ोनĀोल्खत म७ ऺॕ कग़न कॊॠच कॕ ऺॊथ ঋोतोॿयॊ करतॊ ऻॖ?

Sulfuric Acid / ऺĀĀॐौरक अĀ

Nitric Acid / नॊइोट३क अĀ

Hydrofluoric Acid / ऻॊइड३ ख़Āॏओौरक अĀ

Potassium Dichromate / पख़टॖोषयम डॊईॿख़मॕट

Correct Answer :­Hydrofluoric Acid / ऻॊइड३ ख़Āॏओौरक अĀ 

3)

Question Stimulus :­

General Science

Glucose on reaction with Br  water gives: / Br  कॕ ऺॊथ ঋोतोॿयॊ करनॕ पर षक१ रॊ (৕ॐकख़ि) दॕतॊ ऻॖ:



Glucose on reaction with Br2 water gives: / Br2 कॕ ऺॊथ ঋोतोॿयॊ करनॕ पर षक१ रॊ (৕ॐकख़ि) दॕतॊ ऻॖ:

Glucaric acid / ৕ॐकॊौरक अĀ

Gluconic acid / ৕ॏकख़ोनक अĀ

Saccharic acid / ऺজॊौरक अĀ

Citric acid / ऺॊइोट३क अĀ

Correct Answer :­Gluconic acid / ৕ॏकख़ोनक अĀ 

4)

Question Stimulus :­

General Science

Which among the following is an evidence to show that there must be a force acting on Earth and
directed towards the Sun? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ यऻ दषॊ१नॕ कॕ ोलए एक ঋमॊण ऻॖ ोक ोनोĀत ऻॎ एक बल ऻॖ जख़ प॑Āॎ पर
ोॿयॊ करतॊ ऻॖ एशॠ  ॐऺय१ कॎ ओर ोनोद१Ā (ोदĀ) ऻॖ?

Deviation of the falling bodies towards East / पतनषॎल ोपॠडख़ ॠ कॊ पॐश१ कॎ ओर ोशचलन (झॏकॊश)

Revolution of the Earth around the Sun /  ॐऺय१ कॕ चॊरख़ ॠ ओर प॑Āॎ कॎ पौरॿमॊ 

Phenomenon of day and night / ोदन एशॠ रॊत कॊ ऻख़नॊ

Apparent motion of Sun around the Earth / प॑Āॎ कॕ चॊरख़ ओर  ॐऺय१ कॊ आभॊऺॎ  ॠऺचलन

Correct Answer :­Revolution of the Earth around the Sun /  ॐऺय१ कॕ चॊरख़ ॠ ओर प॑Āॎ कॎ पौरॿमॊ  

5)



Question Stimulus :­

General Science

White Revolution could not have been possible without the revolutionary contribution made by
which of the following personalities? / ोनĀोल्खत म७ ऺॕ कग़न ऺॕ က्ঢက कॕ ကॊरॊ ोदए ॽए ॿॊॠोतकॊरॎ यख़गदॊन कॕ ोबनॊ
Āॕत ॿॊॠोत  ॠऺभश नऻॎ ॠ ऻख़ पॊतॎ?

Alexander Graham Bell / अलॕট७डर ঁॖऻम बॕल

Nicolaus Copernicus / ोनकख़लऺ कॗपरोनकऺ

Louis Pasteur / लॏइऺ पॖĀर

Aryabhata / आय१भĀ

Correct Answer :­Louis Pasteur / लॏइऺ पॖĀर 

6)

Question Stimulus :­

General Science

Which among the following is NOT an external storage device? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ एक बॊĀ भĀॊरण
यॠআ नऻॎ ॠ ऻॖ?

CD / ऺॎडॎ

DVD / डॎशॎडॎ

Magnetic Tape / चॏĀकॎय पĀॎ (मॖ্ॕोटक टॕप)

Monitor / मॗोनटर



Correct Answer :­Monitor / मॗोनटर 

7)

Question Stimulus :­

General Science

Which among the following is not a flightless bird? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ एक उĀयन­अ঴म प঴ॎ नऻॎ ॠ ऻॖ?

Emu / एमॏ

Kiwi / कॎशॎ

Sooty Tern /  ॏऺटॎ टन१

Kakapo / कॊकॊपख़

Correct Answer :­Sooty Tern /  ॏऺटॎ टन१ 

8)

Question Stimulus :­

General Science

Phenol gives characteristic colouration with: / इऺ कॕ ऺॊथ ोफनॗल चॊौरोআक रॠजन (रॠगॊई) दॕतॊ ऻॖ:

Bromine Water / ঍ख़ोमन जल

Ammonium Hydroxide / अमख़ोनयम ऻॊइड३ ॗসॊइड

Aqueous Ferric Chloride Solution / जलॎय फॕौरक মख़रॊइड ोशलयन

Iodine Solution / आयख़डॎन ोशलयन



Correct Answer :­Aqueous Ferric Chloride Solution / जलॎय फॕौरक মख़रॊइड ोशलयन 

9)

Question Stimulus :­

General Science

The minimum acceleration with which a fireman can slide down a rope of breaking strength 2/3rd
of his weight shall be: / ोजऺ ကॐनतम ကरण पर एक अो্षमनकॊरॎ उऺकॕ षॊरॎौरक भॊर कॕ ͙/͚ ोशघटन ঴मतॊ यॏঢ रĀॏ ऺॕ
ोफऺलकर नॎचॕ आ ऺकतॊ ऻॖ, शऻ ऻख़गॊ:

0 / 0

3g / ͚g

g/3 / g /͚

g

Correct Answer :­g/3 / g /͚ 

10)

Question Stimulus :­

General Science

What process is being depicted in the figure below? / अधख़ शोण१त ोचআ म७ कग़न ऺॎ ঋोॿयॊ ोचोআत कॎ जॊ रऻॎ ऻॖ?



Brewing / ोकĀॊऺशन

Distillation / आऺशन

Evaporation / शॊĀॎकरण

Condensation /  ॠऺघनन

Correct Answer :­Distillation / आऺशन 

11)

Question Stimulus :­

General Science

Ozone Layer is present in which of the following spheres? / ोनĀोल्खत मॠडलख़ ॠ म७ ऺॕ ोकऺ म७ ঋजॊरक (ओिख़न)
परत उप्Āथत ऻॖ?



Ionosphere / आयन मॠडल

Stratosphere / ऺमतॊप मॠडल

Troposphere / ঴ख़भ मॠडल

Mesosphere / मĀ मॠडल

Correct Answer :­Stratosphere / ऺमतॊप मॠडल 

12)

Question Stimulus :­

General Science

Maximum amount of Fresh Water is used in: / अलशण जल कॕ ऺशॊ१ोधक मॊআॊ कॊ उपयख़ग इऺ म७ ऻख़तॊ ऻॖ:

Agriculture /  क॑ोहकॊय१

Drinking / पॎनॊ

Pisciculture / मĀपॊलन

Cooking / खॊनॊ पकॊनॊ

Correct Answer :­Agriculture /  क॑ोहकॊय१ 

13)

Question Stimulus :­

General Science

The unit of pole strength is / উॏशॎय ঴मतॊ कॊ इकॊई ऻॖ



amp –metre 2 / एĀ-मॎटर͙ 

amp – metre / एĀ-मॎटर

amp/metre / एĀ/मॎटर 

amp/ metre 2/ एĀ/मॎटर͙

Correct Answer :­amp – metre / एĀ-मॎटर 

14)

Question Stimulus :­

General Science

Haemoglobin of the human blood forms a stable complex compound. With which of the following
gas given below does it lead to human death? / मॊनश रঢ कॊ ॹोधर­शोण१कॊ (ऻॎमख़৕ख़ोबन) एक ्Āथर जोटल यग़ोगक
बनॊतॊ ऻॖ| ोनĀोल्खत म७ ऺॕ कग़न ऺॕ गॖऺ कॕ ऺॊथ यऻ मॊनश म॑Āॏ कॊ कॊरण बनतॊ ऻॖ?

Nitrogen / नॊइट३ ख़जन

Carbon dioxide / कॊब१न डॊइऑসॊइड

Carbon Monoxide / कॊब१न मख़नख़ऑসॊइड

Oxygen / ऑসॎजन

Correct Answer :­Carbon Monoxide / कॊब१न मख़नख़ऑসॊइड 

Topic:­ G3_General Computer Knowledge
1)

Question Stimulus :­



Computer

TCP/IP protocol has been developed by which company? / टॎऺॎपॎ/आईपॎ (TCP/IP) ॿमॊचॊर कग़न ऺॕ ঋोतĀॊन
ကॊरॊ ोशकोऺत ोकयॊ गयॊ?

BELL / बॕल (BELL)

DARPA / दप१ (DARPA)

AT&T / एटॎ&टॎ (AT&T)

Hayes / ऻॊयॕऺ 

Correct Answer :­DARPA / दप१ (DARPA) 

2)

Question Stimulus :­

Computer

Which of the following function can be used for single character input from keyboard? / ोनĀोल्खत म७
ऺॕ कग़न ऺॕ ोॿयॊ कॊ उपयख़ग कॏॠ जॎपटल (कॎबख़ड१) ऺॕ एकल अ঴र ( ॠऺकॕत) ঋोशोĀ ऻॕतॏ ोकयॊ जॊ ऺकतॊ ऻॖ?

Getch / गॕच

Getchar / गॕचर

Getche / गॕचॕ 

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Getchar / गॕचर 



3)

Question Stimulus :­

Computer

Computer virus has the ability to: /  ॠऺगणक ोशहॊणॏ (कॠ Āॏटर शॊइरऺ) म७ यऻ करनॕ कॎ ঴मतॊ ऻख़तॎ ऻॖ:

Bifurcate itself / Āयॠ कख़ ोကधॊोशभঢ करनॊ

Clone itself / Āयॠ कॊ ঋोतॺपण करनॊ

Terminate itself / Āयॠ कख़ ऺमॊĀ करनॊ

Hide itself / Āयॠ कख़ गॏĀ रखनॊ

Correct Answer :­Clone itself / Āयॠ कॊ ঋोतॺपण करनॊ 

4)

Question Stimulus :­

Cache memory is:  / ঈॏोतकॊ (कॖचॕ) Ā॑ोत ऻॖ:

Fastest RAM / ঈॏततम रॖम (RAM)

RAM / रॖम (RAM)

Virtual memory / आभॊऺॎ Ā॑ोत

Hard disk / अनĀ चोॿकॊ (ऻॊड१ ोडĀ)

Correct Answer :­Fastest RAM / ঈॏततम रॖम (RAM) 



5)

Question Stimulus :­

Computer

PASCAL language is created by: / PASCAL भॊहॊ इनकॕ ကॊरॊ बनॊयॊ गयॊ:

Niklaus Wirth / ोनकलॗऺ शथ१

John Mark / जॗन मॊक१

Dennis M. Ritchie / डॕोनऺ एम. ौरचॎ

Aho / अऻख़

Correct Answer :­Niklaus Wirth / ोनकलॗऺ शथ१ 

6)

Question Stimulus :­

Computer

Which of the following is a relational operator? /  ोनĀोल्खत म७ ऺॕ ভॊ एक  ॠऺबॠधपरक  ॠऺकॊरक ऻॖ?

< / <

+ / + 

++ / ++ 

/ / / 

Correct Answer :­< / < 



7)

Question Stimulus :­

Computer

Semi conductor memory is: /  अध१चॊलक Ā॑ोत ऻॖ:

Volatile / কॊऺॎ (उदशॊयॎ)

Non Volatile / अनকॊऺॎ

Both of the above / उपरख़ঢ उभय

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both of the above / उपरख़ঢ उभय 

8)

Question Stimulus :­

Computer

In a kilobyte “K” is referred as: / एक ोकलख़बॊइट म७, “K” ऺॕ तॊĀय१ ऻॖ:

2000 bytes / ͙͗͗͗ बॊइट

1000 bytes / ͗͗͗͘ बॊइट

1024 bytes / ͙͗͛͘ बॊइट

1020 bytes / ͙͗͗͘ बॊइट



Correct Answer :­1024 bytes / ͙͗͛͘ बॊइट 

9)

Question Stimulus :­

Computer

In a program computer, instructions are performed in: /  एक ॿमॊदॕष  ॠऺगणक म७, ोनद८षख़ ॠ कॊ पॊलन ऐऺॕ ोकयॊ
जॊतॊ ऻॖ:

Sequential manner / ॿमबĀ (अनॏॿोमक) ॺप

Random manner / यॊĀ्ৢक (अကश्Āथत) ॺप

Parallel manner / ऺमॊॠतरॊल ॺप

Consecutive manner / ॿमॊगत ॺप

Correct Answer :­Sequential manner / ॿमबĀ (अनॏॿोमक) ॺप 

10)

Question Stimulus :­

Computer

Which device can be used for digital to analog signals? / अॠकॎय (ोडोजटल) ऺॕ अनॏॺप (एनॊलॗग)  ॠऺकॕतख़ ॠ कॕ ोलए
कग़न ऺॕ यĀ कॊ उपयख़ग ोकयॊ जॊ ऺकतॊ ऻॖ?

Modem / मख़डॕम

De modem / डॎ मख़डॕम्

Modulator / अोधोम঒क (मॗĀॏलॕटर)
Packet / पॏोलॠदॊ (पॖकॕट)



Packet / पॏोलॠदॊ (पॖकॕट)

Correct Answer :­Modem / मख़डॕम 

11)

Question Stimulus :­

Computer

Elements of an array is accessed by: / ोकऺॎ ऺॊरणॎ (আम) कॕ तကख़ॠ तक उपॊगम इऺकॕ ကॊरॊ ऻॖ: 

Index number / अनॏॿमोणकॊ  ॠऺূॊ

Parenthesis / कख़Āक

+operator / +  ॠऺकॊरक

Dot member operator / ोबĀदॏ  ऺदĀ (डॗट मॕĀर)  ॠऺकॊरक

Correct Answer :­Index number / अनॏॿमोणकॊ  ॠऺূॊ 

12)

Question Stimulus :­

Computer

In E­mail which of the following protocol is used for messages? /  शॖद्यॏ ोतक डॊक (ई­मॕल) म७, ोनĀोल्खत म७ ऺॕ
कग़न ऺॊ ॿमॊचॊर  ॠऺदॕषख़ ॠ कॕ ोलए ကशॼत ऻख़तॎ ऻॖ:

IPC / आईपॎऺॎ (IPC)

SMTP / एऺएमटॎपॎ (SMTP)



FTP / एफटॎपॎ (FTP)

HTTP / एचटॎटॎपॎ (HTTP)

Correct Answer :­SMTP / एऺएमटॎपॎ (SMTP) 

13)

Question Stimulus :­

Computer

Half Duplex represents information travel in: / अध१ ोကĀर दषॊ१तॊ ऻॖ ोक  ॐऺचनॊ इऺम७  ॠऺचॊौरत ऻख़तॊ ऻॖ:

Both ways at once / उभय ोदषॊ म७ एक ऻॎ ऺमय म७

Both ways but not at once / उभय ोदषॊ म७ परॠतॏ एक ऻॎ ऺमय म७ नऻॎ ॠ

Both of the above / उपरख़ঢ उभय

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Both ways but not at once / उभय ोदषॊ म७ परॠतॏ एक ऻॎ ऺमय म७ नऻॎ ॠ 

14)

Question Stimulus :­

Computer

Decimal number 80 can be represented in BCD code as: /  दषमलश  ॠऺূॊ ͗͟ कख़ बॎऺॎडॎ  (BCD) कॐ ट म७ इऺ
ঋकॊर दषॊ१यॊ जॊ ऺकतॊ ऻॖ:

0100 0101 / ͗͗͗͘ ͗͗͘͘



1100 0011 /͗͗͘͘ ͗͗͘͘

1000 0000 / ͗͗͗͘ ͗͗͗͗

1111 1111 / ͘͘͘͘ ͘͘͘͘

Correct Answer :­1000 0000 / ͗͗͗͘ ͗͗͗͗ 

Topic:­ G3_Civil
1)

Question Stimulus :­

Civil

How is the lateral pressure of earth  related to the depth of the soil? / प॑Āॎ कॊ पॊĀ१ दबॊश ोमĀॎ कॎ गऻरॊई ऺॕ
कॖऺॕ  ॠऺबॠोधत ऻॖ?

directly proportional, square / ঋĀ঴ आनॏपॊोतक, शगॊ१कॊर 

inversely proportional, square / ोशपरॎत आनॏपॊोतक, शगॊ१कॊर 

indirectly proportional, square / परख़঴ ॺप ऺॕ आनॏपॊोतक, शगॊ१कॊर 

directly proportional, rectangular / ঋĀ঴ आनॏपॊोतक, आयतॊकॊर

Correct Answer :­directly proportional, square / ঋĀ঴ आनॏपॊोतक, शगॊ१कॊर  

2)

Question Stimulus :­

Civil

For a clay layer which one of the following is directly proportional to permeability? / एक ोमĀॎ कॎ परत
कॕ ोलए इनम७ ऺॕ कग़न एक ঋĀ঴ ॺप पॊरगĀतॊ कॊ आनॏपॊोतक ऻॖ?



कॕ ोलए इनम७ ऺॕ कग़न एक ঋĀ঴ ॺप पॊरगĀतॊ कॊ आनॏपॊोतक ऻॖ?

time factor / ऺमय कॊरक

weight factor / शजन कॊरक

volume factor / मॊআॊ कॊरक

pressure factor / दबॊश कॊरक

Correct Answer :­time factor / ऺमय कॊरक 

3)

Question Stimulus :­

Civil

When the line of rivets does not lie in the direction of stress, the ______________ in a riveted joint
should not exceed ____________ whichever is less. (Where t = thickness of the thinner outside
plate). / योद कॎलक रॕखॊ तनॊश कॎ ोदषॊ म७ ्Āथत नऻॎ ॠ ऻख़तॊ ऻॖ, तब ______________ कॎलक ऺॕ जख़ीनॕ शॊलॊ जख़ी
______________ ऺॕ अोधक नऻॎ ॠ ऻख़नॊ चॊोऻए, जख़ भॎ कम ऻख़। (जऻॊँ टॎ = पतलॕ बॊĀ ကॕट कॎ मख़टॊई ऻॖ)।

maximum pitch, 32t or 300mm / अोधकतम ढॊल, 32टॎ यॊ 300 एमएम

minimum pitch, 32t or 300mm / ကॐनतम ढॊल, 32टॎ यॊ 300 एमएम

maximum pitch, 30t or 200mm / अोधकतम ढॊल, 30टॎ यॊ 200 एमएम

maximum pitch, 30t or 300mm / अोधकतम ढॊल, 30टॎ यॊ 300 एमएम

Correct Answer :­maximum pitch, 32t or 300mm / अोधकतम ढॊल, 32टॎ यॊ 300 एमएम 

4)



Question Stimulus :­

Civil

In S.I system of units, how the unit of force is written as? / इकॊइयख़ ॠ कॕ एऺ.आई ঋणॊलॎ म७, बल कॎ इकॊई कख़
कॖऺॕ ोलखॊ जॊतॊ ऻॖ?

newton / ကॐटन

mass / ঈကमॊन कॕ

Kg / ोकलख़ঁॊम

gram/cm / ঁॊम / ऺॕमॎ

Correct Answer :­newton / ကॐटन 

5)

Question Stimulus :­

Civi

The discharge from the water pipe line is at a high velocity when the nozzle is placed at which part
of the pipe line? / टख़ ॠटॎ कख़ पॊइप लॊइन कॕ ोकऺ भॊग पर रखनॕ ऺॕ पॊनॎ कॕ पॊइप लॊइन ऺॕ ঋशॊऻ बॽत अोधक तॎ঑ गोत ऺॕ ऻख़तॊ
ऻॖ?

the beginning of the pipe line / पॊइप लॊइन कॕ षॏॺ म७

the mid of the pipe line / पॊइप लॊइन कॕ बॎच म७

end of the pipe line / पॊइप लॊइन कॕ अॠत म७

the beginning and end of the pipe line / पॊइप लॊइन कॕ षॏॺ म७ और अॠत म७



Correct Answer :­end of the pipe line / पॊइप लॊइन कॕ अॠत म७ 

6)

Question Stimulus :­

Civil

The discharge corresponding to critical depth is maximum in which of the following channels? /
ोनĀोल्खत चॖनलख़ ॠ म७ ऺॕ ोकऺम७ बऻॊश मऻကपॐण१ गऻरॊई कॕ  ॠऺगत अोधकतम ऻॖ?

an open channel / एक खॏलॕ चॖनल म७

a closed channel / एक बॠद चॖनल म७

a half­open channel / एक अĀ१­खॏलॕ चॖनल म७

a half–closed channel / एक अĀ१­बॠद चॖनल म७

Correct Answer :­an open channel / एक खॏलॕ चॖनल म७ 

7)

Question Stimulus :­

Civil

One of the following types of pump is used for lifting water from deep wells. / ोनĀॊॠोकत म७ ऺॕ ोकऺ पॠप कॊ
उपयख़ग गऻरॕ कॏ एॠ  ऺॕ पॊनॎ ोनकॊलनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ।

centrifugal pump / कॕကॊपऺॊरक पॠप

hydraulic pump / ঈशचॊोलत पॠप (ऻॊइड३ ॗोलक पॠप)

screw pump / Āॐ  पॠप



jet pump / जॕट पॠप

Correct Answer :­centrifugal pump / कॕကॊपऺॊरक पॠप 

8)

Question Stimulus :­

Civil

In ordinary residential buildings, at what level the D.P.C. may be provided? / ऺॊधॊरण आशॊऺॎय भशनख़ ॠ म७
ोकऺ Āर पर डॎ.पॎ.ऺॎ. कख़ Āॎक॑त ोकयॊ जॊ ऺकतॊ ऻॖ?

between ground level and water table level / जमॎनॎ Āर और जलĀर कॕ बॎच

at ground level / जमॎनॎ Āर पर

at plinth level / कॏ ऺ५ Āर पर

at water table level / जलĀर पर

Correct Answer :­at plinth level / कॏ ऺ५ Āर पर 

9)

Question Stimulus :­

CANCELLED

Civil

What is the principle cause of a Creep? / एक ोशऺप१ण कॊ मॏূ कॊरण ভॊ ऻॖ?

wave motion of rails due to moving trains / चलतॎ गॊोीयख़ ॠ कॕ कॊरण रॕल कॎ तरॠग गोत 

rigid holding of track / ट३ ॖक कॊ कठख़र पकी



rigid holding of track / ट३ ॖक कॊ कठख़र पकी

motions in either direction as on a single track / एक ऻॎ ट३ ॖक पर ोकऺॎ एक ोदषॊ म७ गोत

longer lengths of rails / रॕल कॎ अोधक लॠबॊई

Correct Answer :­wave motion of rails due to moving trains / चलतॎ गॊोीयख़ ॠ कॕ कॊरण रॕल कॎ तरॠग गोत  

10)

Question Stimulus :­

Civil

In most of the economical rectangular section of a channel, depth is kept half to which one of the
following? / अोधकॊॠष ोकफॊयतॎ चतॏभॏ१जॊकॊर अनॏभॊग शॊलॕ चॖनल म७, गऻरॊई कख़ ोकऺकॊ आधॊ रखॊ जॊतॊ ऻॖ?

hydraulic radius / ঈशॎय (ऻॊइड३ ॗोलक) ोআĀॊ

hydraulic volume / ঈशॎय (ऻॊइड३ ॗोलक) आयतन

hydraulic weight / ঈशॎय (ऻॊइड३ ॗोलक) शजन

hydraulic mean / ঈशॎय (ऻॊइड३ ॗोलक) मॊĀ

Correct Answer :­hydraulic radius / ঈशॎय (ऻॊइड३ ॗोलक) ोআĀॊ 

11)

Question Stimulus :­

Civil

The shift (S) of transition curve is ______­, if length of the transition curve (L= 4) and radius of the
curve(R=2). /  ॠऺॿमण शॿ कॊ ोषĀ (एऺ) ______­, योद  ॠऺॿमण शॿ कॎ लॠबॊई (एल=4) और शॿ कॎ ोআĀॊ (आर=2)
ऻॖ।



ऻॖ।

0.3333

0.4444

0.55555

0.66666

Correct Answer :­0.3333 

12)

Question Stimulus :­

Civil

The infertility of the soil in water­logged areas is caused due to __________ harmful salts. /
जलကॊोशत ঴ॕআख़ ॠ म७ अनॏश१रतॊ कॊ कॊरण ऻॊोनकॊरक लशणख़ ॠ कॎ मॊআॊ म७ __________ ऻख़नॊ ऻॖ।

increasing / श्॑Ā

decreasing / कमॎ

min­max / ကॐनतम­अोधकतम

max­min / अोधकतम­ကॐनतम

Correct Answer :­increasing / श्॑Ā 

13)

Question Stimulus :­



Civil

If the mass is a matter contained in a body. Then how it is expressed? / योद ोपॠड म७ ोनोऻत पदॊथ१ कख़ उऺ
शĀॏ कॊ ঈကमॊन कऻतॕ ऻ॰। तब इऺॕ कॖऺॕ ကঢ ोकयॊ जॊतॊ ऻॖ?

Kg / ोकलख़ঁॊम

Kg/m / ोकलख़ঁॊम / मॎटर

Kg/cm / ोकलख़ / ऺॕमॎ

Kg/sq / ोकलख़ঁॊम / शग१

Correct Answer :­Kg / ोकलख़ঁॊम 

14)

Question Stimulus :­

Civil

Which type of pump is used for high viscous fluid pumping? / ोकऺ ঋकॊर कॕ पॠप कॊ उपयख़ग उৡ Āॊनतॊ शॊलॕ
तरल पदॊथ१ कख़ ोनकॊलनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

centrifugal pump / कॕကॊपऺॊरक पॠप

hydraulic pump / ঈशचॊोलत पॠप (ऻॊइड३ ॗोलक पॠप)

screw pump / Āॐ  पॠप

jet pump / जॕट पॠप

Correct Answer :­screw pump / Āॐ  पॠप 



15)

Question Stimulus :­

Civil

The increase in coefficient of passive earth pressure is accompanied by increase in which of the
following? / ोन्Āय प॑Āॎ दबॊश कॕ गॏणॊॠक म७ श्॑Ā कॕ ऺॊथ ोनĀॊॠोकत म७ ऺॕ ोकऺम७ श्॑Ā ऻख़तॎ ऻ॰?

angle of shearing resistance / अपॺपण ঋोतरख़ध कॕ कख़ण म७

angle of corrosion / ঴रण कॕ कख़ण म७

torque / टॊक१

power / बल

Correct Answer :­angle of shearing resistance / अपॺपण ঋोतरख़ध कॕ कख़ण म७ 

16)

Question Stimulus :­

Civil

The Young's modulus of concrete Ec is:­ / कॠ ॿॎट ईऺॎ कॊ यॠग मॊपॊॠक ऻॖ:­

5700 fck

5700

1000 fck



1000 

Correct Answer :­5700  

17)

Question Stimulus :­

Civil

Assume that the current cost for a 1.2­pupil school constructed of wood frame for a city is Rs. 180.
We are asked to develop an order­of­magnitude estimate for a 9­pupil school. / मॊन लॎोजए ोक 1.2 –
छॊআख़ ॠ शॊलॕ लकीॎ कॕ ुॊॠचॕ शॊलॕ ोशĀॊलय कॕ ोनमॊ१ण कॎ लॊगत Rs. 180 ऻ॰। ऻमऺॕ 9­छॊআख़ ॠ शॊलॕ ोशĀॊलय कॕ ोलए पौरमॊण कख़ोट कॎ
गणनॊ करनॕ कॕ ोलए कऻॊ गयॊ।

1350

1345

1355

1352

Correct Answer :­1350 

18)

Question Stimulus :­

Civil

Which one of the following options is termed as water hammer in a pipe flow? / पॊइप ঋशॊऻ म७ ोनĀ
ोशकĀख़ॠ म७ ऺॕ ोकऺॕ पॊनॎ ऻथग़ीॊ  कऻॊ जॊतॊ ऻॖ?



The sudden rise of pressure in a long pipe due to sudden closure of valve / अचॊनक
शॊĀ कॕ बॠद ऻख़नॕ कॕ कॊरण एक लॠबॕ पॊइप म७ अचॊनक दबॊश कॕ उĀĀ ऻख़नॕ

The fall of  pressure in a pipe flow due to constant closure of valve / शॊĀ कॕ लगॊतॊर बॠद
रऻनॕ कॕ कॊरण एक पॊइप ঋशॊऻ म७ दबॊश कॎ कमॎ

The rise of negative pressure / नकॊरॊĀक दबॊश म७ श्॑Ā

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­The sudden rise of pressure in a long pipe due to sudden closure of valve / अचॊनक
शॊĀ कॕ बॠद ऻख़नॕ कॕ कॊरण एक लॠबॕ पॊइप म७ अचॊनक दबॊश कॕ उĀĀ ऻख़नॕ 

19)

Question Stimulus :­

Civil

The total ____________ of flat slab, in no case, should be __________ 125mm. / ऺपॊट ကॖब कॎ कॏ ल
____________ ोकऺॎ भॎ ्Āथोत म७, 125 ोममॎ ____________ नऻॎ ॠ ऻख़नॎ चॊोऻए।

volume, not less than / आयतन, ऺॕ कम नऻॎ ॠ

height , less than / ऊॠ चॊई, ऺॕ कम

length, more than / लॠबॊई, म७ अोधक

thickness , less than / मख़टॊई, ऺॕ कम

Correct Answer :­thickness , less than / मख़टॊई, ऺॕ कम 

20)



Question Stimulus :­

Civil

In a simply supported slab, the pitch of distribution reinforcement should ______________ five
times the effective depth of slab or 60cm whichever is ___________. / एक ऺॊमॊက ॺप ऺॕ ऺमोथ१त ကॖब म७,
ोशतरण  ॏऺĀढॎकरण कॊ ोपच ကॖब कॎ ঋभॊशॎ गऻरॊई ऺॕ पॊॠच गॏणॊ ______________ ऻख़नॊ चॊोऻए यॊ 60 ऺॕमॎ जख़
भॎ___________ ऻख़।

not be more than , smaller / ऺॕ अोधक नऻॎ ॠ ऻख़नॊ चॊोऻए, छख़टॊ

not be less than, larger / ऺॕ कम नऻॎ ॠ ऻख़नॊ चॊोऻए, बीॊ

not be more than, larger / ऺॕ अोधक नऻॎ ॠ ऻख़नॊ चॊोऻए, बीॊ

note be less than, smaller / ऺॕ कम नऻॎ ॠ ऻख़नॊ चॊोऻए, छख़टॊ

Correct Answer :­not be more than , smaller / ऺॕ अोधक नऻॎ ॠ ऻख़नॊ चॊोऻए, छख़टॊ 

21)

Question Stimulus :­

Civil

What is the name of the pump that is used for lifting water to the boilers and turbines? / उऺ पॠप कॊ
नॊम बतॊएॠ  ोजऺकॊ उपयख़ग शॊ्Āআ (রथोनআ) और टरबॊइन तक पॊनॎ कख़ पॽँचॊनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ।  

Jet pump / जॕट पॠप

hydraulic pump / ঈशचॊोलत पॠप (ऻॊइड३ ॗोलक पॠप)

screw pump / Āॐ  पॠप



plunger pump / ोनमĀक पॠप (ကĀजर पॠप)

Correct Answer :­Jet pump / जॕट पॠप 

22)

Question Stimulus :­

Civil

The ___________ system of arranging the reinforcement, the reinforcement is provided in column
strips and _____________. /  ॏऺĀढॎकरण कॎ ကशĀथॊ कॎ ___________ ঋणॊलॎ म७,  ॏऺĀढॎकरण Āॠभ पोĀयख़ ॠ और
___________ म७ ঋदॊन ोकयॊ जॊतॊ ऻॖ।

two–way, diagonal strips / दख़तरफॊ ঋणॊलॎ, ोशकण१ पोĀयॊँ

one­way, rectangular strips / एकतरूॊ, चतॏभॏ१जॊकॊर पोĀयॊँ

two­way, circular strips / दख़तरफॊ ঋणॊलॎ, श॑तॎय पोĀयॊँ

one­way,  diagonal strips / एकतरूॊ, ोशकण१ पोĀयॊँ

Correct Answer :­two–way, diagonal strips / दख़तरफॊ ঋणॊलॎ, ोशकण१ पोĀयॊँ 

23)

Question Stimulus :­

Civil

A siphon is used in connecting two reservoirs at different levels intervened by which of the
following? / एक ऺॊइफन नलॎ कॊ इĀॕमॊल ोशोभĀ Āरख़ॠ (ऊँचॊइयख़ ॠ) पर ्Āथत दख़ जलॊषयख़ ॠ कख़ जख़ीनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ,
ोजऺम७ ोकऺकॕ ကॊरॊ ကशधॊन उĀĀ ोकयॊ जॊतॊ ऻॖ?

low ridge / नॎचॊ मॕी
high ridge / ऊँचॊ मॕी



high ridge / ऊँचॊ मॕी

extremely low ridge / अĀोधक नॎचॊ मॕी

extremely high ridge / अĀोधक ऊँचॊ मॕी

Correct Answer :­high ridge / ऊँचॊ मॕी 

24)

Question Stimulus :­

Civil

The construction of residential building is categorized in which of the following categories? / प॑Āॎ कॊ
पॊĀ१ दबॊश ोमĀॎ कॎ गऻरॊई ऺॕ कॖऺॕ  ॠऺबॠोधत ऻॖ?

light construction / ঋĀ঴ आनॏपॊोतक, शगॊ१कॊर 

heavy construction / ोशपरॎत आनॏपॊोतक, शगॊ१कॊर 

medium construction / परख़঴ ॺप ऺॕ आनॏपॊोतक, शगॊ१कॊर 

average construction / ঋĀ঴ आनॏपॊोतक, आयतॊकॊर

Correct Answer :­light construction / ঋĀ঴ आनॏपॊोतक, शगॊ१कॊर  

25)

Question Stimulus :­

Civil

What are particularly provided in the case of urban roads? / षऻरॎ ऺीकख़ॠ कॕ मॊमलॕ म७ ोशषॕह ॺप ऺॕ ভॊ उपलĀ
करॊयॊ जॊतॊ ऻॖ?



footpaths / फॏ टपॊथ

express way / चग़ीॊ मॊग१ (एসঋॕऺ शॕ)

carriage way / पौरशऻन मॊग१ (कॖौरज शॕ)

highway / रॊजमॊग१ (ऻॊईशॕ)

Correct Answer :­footpaths / फॏ टपॊथ 

26)

Question Stimulus :­

Civil

The total annual cost of highway transportation, if B= Rs. 40000, C = 200, N = 100 / रॊजमॊग१ पर
पौरशऻन कॎ कॏ ल शॊोह१क लॊगत ভॊ ऻख़गॎ, योद बॎ= Rs. 40000, ऺॎ=200, एन=100

2

3

4

5

Correct Answer :­2 

27)

Question Stimulus :­

Civil



Drop is which type of the slab around the column and how much is its thickness than the rest of the
slab? / Āॠभ कॕ चॊरख़ ॠ ओर ोगरनॊ (ड३ ॊप) ोकऺ ঋकॊर कॊ ကॖब ऻख़तॊ ऻॖ और इऺकॎ मख़टॊई बॊकॎ ကॖब कॎ तॏलनॊ म७ ोकतनॎ अोधक
ऻख़तॎ ऻॖ?

flat slab, greater / ऺपॊट ကॖब, अोधक

circular slab, greater / श॑तॎय ကॖब, अोधक

continuous slab, greater / ोनरॠतर ကॖब, बीॊ

flat slab, smaller / ऺपॊट ကॖब, छख़टॊ

Correct Answer :­flat slab, greater / ऺपॊट ကॖब, अोधक 

28)

Question Stimulus :­

Civil

What is the efficiency of the machine ratio? / मषॎन अनॏपॊत कॎ द঴तॊ ভॊ ऻॖ?

output to the input of the machine / मषॎन कॕ उĀॊदन ऺॕ आदॊन तक

output of the machine / मषॎन कॊ उĀॊदन

input to the output of the machine / मषॎन कॕ आदॊन ऺॕ उĀॊदन तक

input to the machine / मषॎन कॕ ोलए आदॊन

Correct Answer :­output to the input of the machine / मषॎन कॕ उĀॊदन ऺॕ आदॊन तक 

29)



Question Stimulus :­

Civil

In which of the following, the specific energy is the total energy measured with respect to the
datum passing through the bottom of the channel. / ोनĀोल्खत म७ ऺॕ ोकऺम७, चॖनल कॕ नॎचॕ ऺॕ गॏजर रऻॕ आधॊर कॕ
ॠऺबॠध म७ मॊपॎ गई ोशोषĀ ऊजॊ१ ऻॎ कॏ ल ऊजॊ१ ऻख़तॎ ऻॖ।

open channel / खॏलॕ चॖनल म७

closed channel / बॠद चॖनल म७

mix­match channel / ोमो঒त­ोमलॊन चॖनल म७

open and closed channel / खॏलॊ और बॠद चॖनल म७

Correct Answer :­open channel / खॏलॕ चॖनल म७ 

30)

Question Stimulus :­

Civil

In which of the following type alternate bars are curtailed at 1/7th of the span? / ोनĀोल्खत म७ ोकऺ
ঋकॊर कॕ शॖक्Āक ऺलॊखख़ ॠ कख़ अशोध कॕ 1/7श७ ोऻĀॕ तक छख़टॊ ोकयॊ जॊतॊ ऻ॰?

simply support slab / ऺॊमॊက ऺमोथ१त ကॖब

continuous slab / ोनरॠतर ကॖब

circular slab / पौरपআ ကॖब

flat slab / Āॖट ကॖब



Correct Answer :­simply support slab / ऺॊमॊက ऺमोथ१त ကॖब 

31)

Question Stimulus :­

Civil

To obtain a gradual increase of curvature from a value of __________ at the tangent to a
________ at the circular curve. / Āष१Āॊ पर ________ मॊन ऺॕ ________ श॑Āॊकॊर शॿ पर शॿतॊ म७ ॿोमक श्॑Ā
ঋॊĀ करनॕ कॕ ोलए।

zero, maximum / षॐက, अोधकतम

one, minimum / एक, ကॐनतम

zero, minimum / षॐက, ကॐनतम

one, maximum / एक, अोधकतम

Correct Answer :­zero, maximum / षॐက, अोधकतम 

32)

Question Stimulus :­

CANCELLED

Civil

If L is the average length of a panel, then the total thickness of a flat slab of interior panels without
drops, should not be less than L/_? / योद एक पॖनल कॎ औऺत लॠबॊई एल ऻॖ, तब एक ऺपॊट ကॖब कॕ आॠतौरक पॖनल कॎ
कॏ ल मख़टॊई ोबनॊ ोगरॕ ॽए, एल/_ ऺॕ कम नऻॎ ॠ ऻख़नॎ चॊोऻए?

36



32

45

34

Correct Answer :­36 

33)

Question Stimulus :­

CANCELLED

Civil

Assume that we have information on an old process plant that has the capacity to produce 10
gallons/day of a particular chemical. The cost today to build the plant would be Rs.1, 000. The
appropriate cost factor for this type of plant is 0.5. An order­of­magnitude estimate of the cost is
required for a plant with a capacity of 30 gallons/ day. / मॊन लॎोजए ोक ऻमॊरॕ पॊऺ एक पॏरॊनॕ ঋोॿयॊ  ॠऺयॠআ ऺॕ
ॠऺबॠोधत  ॐऺचनॊ ऻॖ ोजऺकॎ ঴मतॊ 10 गॖलन/ोदन एक ोशषॕह ঋकॊर कॕ रऺॊयन कॊ उĀॊदन करनॕ कॊ ऻ॰। शत१मॊन ऺमय म७ ऐऺॕ  ॠऺयॠআ कॕ

ोनमॊ१ण कॎ लॊगत Rs.1, 000 ऻख़गॎ। इऺ ঋकॊर कॕ  ॠऺयॠআ कॕ ोलए उोचत लॊगत कॊरक 0.5 ऻॖ। 10 गॖलन/ोदन उĀॊदन ঴मतॊ शॊलॕ
ॠऺयॠআ कॕ ोनमॊ१ण कॕ ोलए लॊगत कॕ पौरमॊण कख़ोट कॎ गणनॊ कर७।

1732.05

1777.05

1776.50

1777.8

Correct Answer :­1732.05 

34)



Question Stimulus :­

Civil

What is the strength of timber if it is in the direction parallel to the grains? / लकीॎ कॎ ष्ঢ ভॊ ऻख़गॎ
योद कण कॕ ऺमॊनॊॠतर ोदषॊ म७ ्Āथत ऻॖ?

maximum / अोधकतम

minimum / ကॐनतम

natural / उदॊऺॎन

balanced /  ॠऺतॏोलत

Correct Answer :­maximum / अोधकतम 

35)

Question Stimulus :­

Civil

The momentum is defined as the total motion possessed by a body. Mathematically, how it is
written? /  ॠऺशॕग कख़ ोकऺॎ ोनकॊय ऺॕ ऻख़कर गॏजरनॕ शॊलॕ कॏ ल गोत कॕ ॺप म७ पौरभॊोहत ोकयॊ गयॊ ऻॖ। गोणतॎय ोशोध म७ इऺॕ कॖऺॕ
ोलखॊ जॊतॊ ऻॖ?

momentum=mass * velocity /  ॠऺशॕग = ঈကमॊन * शॕग

momentum=distance * velocity /  ॠऺशॕग = दॐ रॎ * शॕग

momentum=distance * mass /  ॠऺशॕग = दॐ रॎ * ঈကमॊन

momentum=velocity * gravity /  ॠऺशॕग = शॕग * गॏॺကॊकह१ण



Correct Answer :­momentum=mass * velocity /  ॠऺशॕग = ঈကमॊन * शॕग 

36)

Question Stimulus :­

Civil

The weight of a body is a force that is attracted towards the center of which of the following
options? / एक ोनकॊय अथॊ१त ोपॠड कॊ शजन एक बल ऻॖ जख़ ोक क७ ঈ कॎ ओर आकोह१त ऻख़तॊ ऻॖ, शऻ ोनĀोल्खत ोशकĀख़ॠ म७ ऺॕ कग़न
ऻॖ?

earth / प॑Āॎ

gravity / गॏॹကॊकह१ण

mass / ঈကमॊन

distance / दॐ रॎ

Correct Answer :­earth / प॑Āॎ 

37)

Question Stimulus :­

Civil

If the pipes are connected in series, how much is the total head loss to the sum of the head loss in
each pipe. / योद पॊइप ঒॑ॠखलॊ म७  ॠऺयख़ोजत ऻ॰, तख़ कॏ ल अঁभॊग कॎ ऻॊोन म७ ऺॕ ঋĀॕक पॊइप म७ अঁभॊग कॎ ोकतनॎ ऻॊोन ऻख़तॎ ऻ॰?

equal / बरॊबर

not equal / बरॊबर नऻॎ ॠ



2 times / 2 गॏनॊ

4 times / 4 गॏनॊ 

Correct Answer :­equal / बरॊबर 

38)

Question Stimulus :­

Civil

What is the lining of a canal assures distribution? / ोशतरण कॊ आĀॊऺन दॕनॕ शॊलॎ नऻर कॊ Āर ভॊ ऻख़गॊ?

economical water / ोकफॊयतॎ पॊनॎ

economical air / ोकफॊयतॎ ऻशॊ

not economical water / ोकफॊयतॎ पॊनॎ नऻॎ ॠ

not economical air and water / ोकफॊयतॎ पॊनॎ और ऻशॊ नऻॎ ॠ

Correct Answer :­economical water / ोकफॊयतॎ पॊनॎ 

39)

Question Stimulus :­

Civil

Which one of the following belongs to the category of energy transfer machines? / ोनĀॊॠोकत म७ ऺॕ कग़न­
ऺॊ ऊजॊ१ ĀथॊनॊĀरण करनॕ शॊलॕ मषॎनख़ ॠ कॎ ঒ॕणॎ ऺॕ  ॠऺबॠोधत ऻ॰?

centrifugal pump / कॕကॊपऺॊरक पॠप



hydraulic coupling / ঈशचॊोलत पॠप (ऻॊइड३ ॗोलक पॠप)

screw coupling / Āॐ  पॠप

jet coupling / जॕट पॠप

Correct Answer :­hydraulic coupling / ঈशचॊोलत पॠप (ऻॊइड३ ॗोलक पॠप) 

40)

Question Stimulus :­

CANCELLED

Civil

When a shaft of diameter (D=4) is subjected to a twisting moment (T=6) and a bending moment
(M=4), then the maximum shear stress is / जब एक षॊĀट कॊ ကॊऺ (डॎ=4) मॏीनॕ शॊलॕ गॏॺက कॕ (टॎ=6) और शॠकन
गॏॺက (एम=4) कॕ अधॎन रऻतॊ ऻॖ, तब अोधकतम अपॺपण ঋोतबल ोकतनॊ ऻख़गॊ:

9.181

8.91

10.181

11.181

Correct Answer :­9.181 

41)

Question Stimulus :­

Civil



In India, the first preference is given to roads for what purposes? / भॊरत म७, ऺीक कख़ पऻलॎ ঋॊथोमकतॊ ोकन
उĀॕĀख़ॠ कॕ ोलए दॎ जॊतॎ ऻ॰?

transportation / पौरशऻन

safety aids /  ॏऺर঴ॊ ऺऻॊयतॊ

signal /  ॏऺर঴ॊ ऺऻॊयतॊ

pedestrian signal / पॖदल यॊोআयख़ ॠ कॕ  ॠऺकॕत

Correct Answer :­transportation / पौरशऻन 

42)

Question Stimulus :­

Civil

How much is the length of an equivalent pipe in comparison to a compound pipe? / एक  ॠऺयॏঢ पॊइप कॎ
तॏलनॊ म७ एक ऺमतॏĀ पॊइप कॎ लॠबॊई ोकतनॎ ऻख़तॎ ऻ॰?

not equal / अऺमॊन

equal / ऺमॊन

minimum / ကॐनतम

maximum / अोधकतम

Correct Answer :­equal / ऺमॊन 

43)



Question Stimulus :­

Civil

The ________________ board was established in 1960. / __________ बख़ड१ कॎ Āथॊपनॊ 1960 म७ कॎ गई।

 

Border Road Development / ऺॎमॊ ऺीक ोशकॊऺ  ॠऺगठन

Central Road Development / क७ ঈॎय ऺीक ोशकॊऺ  ॠऺगठन

State Road Development / रॊĀ ऺीक ोशकॊऺ  ॠऺगठन

Defence Road Development / र঴ॊ ऺीक ोशकॊऺ  ॠऺगठन

Correct Answer :­Border Road Development / ऺॎमॊ ऺीक ोशकॊऺ  ॠऺगठन 

44)

Question Stimulus :­

Civil

Kennedy gave a relationship between the depths of flowing water and ____________. / कॖनॕडॎ नॕ
ঋशॊोऻत ऻख़ रऻॕ पॊनॎ कॎ गऻरॊई और ____________ कॕ बॎच एक  ॠऺबॠध ঋोतपॊोदत ोकयॊ ऻॖ।

critical velocity / ॿॊॠोतक शॕग

displacement / ोशĀथॊपन

distance / दॐ रॎ

angular distance / कख़णॎय दॐ रॎ



Correct Answer :­critical velocity / ॿॊॠोतक शॕग 

45)

Question Stimulus :­

Civil

In the design of rigid pavements the flexural strength of concrete represents what type of factor? /
कठख़र फॏ टपॊथ कॕ ोडजॊइन म७ कॠ ॿॎट कॊ Āॕयॕयॐरल ष्ঢ ोकऺ कॊरक कॊ ঋोतोनोधက करतॎ ऻॖ?

major / ঋमॏख

minor / गग़ण

below major / ঋमॏख ऺॕ नॎचॕ

above minor / गग़ण ऺॕ अोधक

Correct Answer :­major / ঋमॏख 

46)

Question Stimulus :­

Civil

In what direction the flow of water should be, in order to decrease the neutral stress? / पॊनॎ कॊ ঋशॊऻ
ोकऺ ोदषॊ म७ ऻख़नॊ चॊोऻए, तॊोक उदॊऺॎन तनॊश कम ऻख़ जॊएॠ ?

downward on the soil mass / ोमĀॎ कॕ ढॕर पर नॎचॕ कॎ ोदषॊ म७

upward on the soil mass / ोमĀॎ कॕ ढॕर पर ऊपर कॎ ोदषॊ म७

top to bottom on the soil mass / ोमĀॎ कॕ ढॕर पर ऊपर ऺॕ नॎचॕ कॎ ोदषॊ म७



bottom to top on the soil mass / ोमĀॎ कॕ ढॕर पर नॎचॕ ऺॕ ऊपर कॎ ोदषॊ म७

Correct Answer :­downward on the soil mass / ोमĀॎ कॕ ढॕर पर नॎचॕ कॎ ोदषॊ म७ 

47)

Question Stimulus :­

Civil

Ultimate shear stress is used to identify which of the following quality of soil? / परम अपॺपण ঋोतबल कॊ
उपयख़ग ोनĀॊॠोकत म७ ऺॕ ोमĀॎ कॕ ोकऺ गॏण कॎ पऻचॊन कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

cohesion /  ॠऺ ॠऺजन

density / घनက

relative density / आपॕो঴क घनက

strength / बल

Correct Answer :­strength / बल 

48)

Question Stimulus :­

Civil

Cement­aggregate ratio is the proportional to _______ of the concrete. / ऺॎम७ट­कॠ ॿॎट कॊ कॏ ल अनॏपॊत
_______ कॊ आनॏपॊोतक ऻख़तॊ ऻॖ

durability / Āथॊोयက

workability / ကशऻॊय१तॊ



fitness / अनॏॺपतॊ

soundness / मजबॐतॎ

Correct Answer :­durability / Āथॊोयက 

49)

Question Stimulus :­

CANCELLED

Civil

The polar moment of inertia of a hollow shaft of outer diameter (D=4) and inner diameter (d=2)
is_____. / बॊऻरॎ ကॊऺ (डॎ = 4) और भॎतरॎ ကॊऺ (डॎ = 2) शॊलॕ एक खख़खलॕ षॊĀ कॎ जीतॊ कॊ উॏशॎय गॏॺက _____ ऻॖ|

1.57

1.76

1.67

1.79

Correct Answer :­1.57 

50)

Question Stimulus :­

Civil

The State Highways should have _______ wide carriage –way with ____wide shoulder on each
side. / रॊĀ रॊĀमॊग१ पर _______ चग़ीॊ पौरशऻन मॊग१ कॕ ऺॊथ ঋĀॕक ओर ____ चग़ीॊ ढलॊन ऻख़नॊ चॊोऻए।



8m ; 2m / 8 मॎटर; 2 मॎटर

10m ; 4m / 10 मॎटर; 4 मॎटर

8m; 4m / 8 मॎटर; 4 मॎटर

8m ; 6m / 8 मॎटर; 6 मॎटर

Correct Answer :­8m ; 2m / 8 मॎटर; 2 मॎटर 

51)

Question Stimulus :­

Civil

In conducting the detailed survey for a strip covering on either side of the chosen center line, what
should be the width in case of straight stretches and in case of sharp curves? / चॏनॕ ॽए क७ ঈ कॎ रॕखॊओॠ कॕ
दख़नख़ ॠ तरफ एक पĀॎ कख़ कशर करनॕ कॕ ोलए ोशĀ॑त ऺश८঴ण करनॕ म७, ऺॎधॕ ोऻĀख़ॠ और तॎख७ मख़ी कॎ ्Āथोत म७ चग़ीॊई ভॊ ऻख़नॎ चॊोऻए?

15m ; 30m / 15 मॎटर; 30 मॎटर

15m ; 40m / 15 मॎटर; 40 मॎटर

10m ; 40m / 10 मॎटर; 40 मॎटर

15m ; 60m / 15 मॎटर; 60 मॎटर

Correct Answer :­15m ; 30m / 15 मॎटर; 30 मॎटर 

52)

Question Stimulus :­



CANCELLED

Civil

Footpaths are higher than the road surface. What is the range of their height? / फॏ टपॊथ ऺीक कॎ ऺतऻ
ऺॕ ऊँचॊ ऻख़तॊ ऻॖ। उनकॎ ऊँचॊई कॎ ऺॎमॊ ভॊ ऻख़तॎ ऻॖ?

15cm to 20cm / 15 ऺॕमॎ ऺॕ 20 ऺॕमॎ

15cm to 25cm / 15 ऺॕमॎ ऺॕ 25 ऺॕमॎ

20cm to 25cm / 20 ऺॕमॎ ऺॕ 25 ऺॕमॎ

15cm to 30cm / 15 ऺॕमॎ ऺॕ 30 ऺॕमॎ

Correct Answer :­15cm to 20cm / 15 ऺॕमॎ ऺॕ 20 ऺॕमॎ 

53)

Question Stimulus :­

Civil

______ force is equal to 9.8 N. / ______ बल 9.8 ကॐटन कॕ बरॊबर ऻॖ।

1kg / 1 ोकलख़ঁॊम

1kg/m / 1 ोकलख़ঁॊम/मॎटर

1kg/cm / 1 ोकलख़ঁॊम/ऺॕमॎ

1 kg/m­sq / 1 ोकलख़ঁॊम/मॎटर­शग१ 

Correct Answer :­1kg / 1 ोकलख़ঁॊम 



54)

Question Stimulus :­

Civil

Name the pump that is different from others in the same group? / उऺ पॠप कॊ नॊम बतॊएॠ  जख़ उऺॎ ऺमॐऻ कॕ
अက पॠपख़ ॠ ऺॕ ोभĀ ऻॖ?

plunger pump / ोनमĀक पॠप (ကĀजर पॠप)

hydraulic pump / ঈशचॊोलत पॠप (ऻॊइड३ ॗोलक पॠप)

viscous pump / Āॊनतॊ पॠप

jet pump / जॕट पॠप

Correct Answer :­plunger pump / ोनमĀक पॠप (ကĀजर पॠप) 

55)

Question Stimulus :­

Civil

According to Indian Roads Congress, the ___________of a road vehicle is 2.25m. / भॊरतॎय ऺीक कॊॠঁॕऺ
कॕ अनॏऺॊर, एक ऺीक पर शॊऻन कॎ __________ 2.25मॎटर ऻॖ।

maximum width / अोधकतम चग़ीॊई

maximum length and minimum width / अोधकतम लॠबॊई और ကॐनतम चग़ीॊई

minimum width and maximum length / ကॐनतम चग़ीॊई और अोधकतम लॠबॊई

minimum length and maximum width / ကॐनतम लॠबॊई और चग़ीॊई अोधकतम



minimum length and maximum width / ကॐनतम लॠबॊई और चग़ीॊई अोधकतम

Correct Answer :­maximum width / अोधकतम चग़ीॊई 

56)

Question Stimulus :­

CANCELLED

Civil

If L = 4 is the length of wheel base of vehicle and R= 4 is the mean radius of a curve, then the
amount of extra width (b) to be provided on roads is ______ / योद एक शॊऻन कॕ पोऻए कॕ आधॊर कॎ लॠबॊई
एल=4 ऻॖ और मॏূ शॿतॊ कॎ ोআĀॊ 4 ऻॖ, तब ऺीक पर अतौरঢ चग़ीॊई (बॎ) कॊ पौरमॊण ऻख़गॊ ______|

12

13

14

15

Correct Answer :­12 

57)

Question Stimulus :­

Civil

The angle of shearing resistance for _________ is same as that of angle of _________ friction. /
_________ कॕ ोलए अपॺपण ঋोतरख़ध कॊ कख़ण _________ घह१ण कॕ कख़ण कॕ ऺमॊन ऻॎ ऻख़तॊ ऻॖ।

dry loose sand, internal /  ॐऺखॎ ढॎलॎ रॕत, आॠतौरक



wet sand , external / गॎलॎ रॕत, बॊऻरॎ

dry and wet sand, middle /  ॐऺखॊ और गॎलॊ रॕत, मĀ

only sand,  external / कॕशल रॕत, बॊऻरॎ

Correct Answer :­dry loose sand, internal /  ॐऺखॎ ढॎलॎ रॕत, आॠतौरक 

58)

Question Stimulus :­

Civil

The breadth is 2 times the depth in case of the channel of rectangular section, then, under this
condition how will be the discharge through the channel? / जब चतॏभॏ१जॊकॊर अनॏभॊग शॊलॕ चॖनल म७ चग़ीॊई गऻरॊई
कॊ 2  गॏनॊ ऻख़तॊ ऻॖ, तब इऺ ्Āथोत कॕ अॠतग१त चॖनल कॕ मॊĀम ऺॕ ঋशॊऻ कॖऺॕ ऻख़गॊ?

minimum / ကॐनतम

maximum / अोधकतम

max­min / अोधकतम­ကॐनतम

min­max / ကॐनतम­अोधकतम

Correct Answer :­maximum / अोधकतम 

59)

Question Stimulus :­

Civil

In a sharp­crested weir, how much is the thickness of the weir, taking into account the height of



the water above the crest of the weir. / एक तॎ঑­मख़ीदॊर मॕी म७, मॕी कॎ मख़टॊई ोकतनॎ ऻख़गॎ, जब मॕी कॕ ोषखर कॕ
ऊपर पॊनॎ कॎ ऊॠ चॊई कख़ Āॊन म७ रखॊ जॊतॊ ऻॖ।

more than half / आधॕ ऺॕ अोधक

twice than half / आधॕ ऺॕ दॏगॏनॊ

thrice than half / आधॕ ऺॕ ोतगॏनॊ

less than half / आधॕ ऺॕ कम

Correct Answer :­less than half / आधॕ ऺॕ कम 

60)

Question Stimulus :­

Civil

A panel of a ________________ is the area enclosed between the centre lines connecting adjacent
columns in _______________ and the outline of the column heads. / एक ________________ कॊ
पॖनल शऻ ঴ॕআ ऻख़तॊ ऻॖ जख़ ________________ आऺĀ कॗलम कख़ जख़ीनॕ शॊलॎ क७ ঈॎय रॕखॊओॠ और Āॠभ कॕ ोऺरॕ कॕ कॎ ऺॎमॊ कॕ
बॎच ोघरॊ रऻतॊ ऻॖ।

flat slab, two directions / ऺपॊट ကॖब, दख़ ोदषॊओॠ म७

flat slab, four directions / ऺपॊट ကॖब, चॊर ोदषॊओॠ म७

continuous slab, two directions / ोनरॠतर ကॖब, दख़ ोदषॊओॠ म७

circular slab, three directions / श॑तॎय ကॖब, तॎन ोदषॊओॠ म७

Correct Answer :­flat slab, two directions / ऺपॊट ကॖब, दख़ ोदषॊओॠ म७ 



61)

Question Stimulus :­

Civil

Which among the following organizations was set up in 1930? / ोनĀॊॠोकत म७ ऺॕ ोकऺ  ॠऺगठन कॎ Āथॊपनॊ ऺन
1930 ईĀॎ म७ कॎ गई थॎ?

central road organization / क७ ঈॎय ऺीक  ॠऺगठन

state road organization / रॊĀ ऺीक  ॠऺगठन

town road organization / कĀॊ ऺीक  ॠऺगठन

urban road organization / षऻरॎ ऺीक  ॠऺगठन

Correct Answer :­central road organization / क७ ঈॎय ऺीक  ॠऺगठन 

62)

Question Stimulus :­

Civil

In doors and windows, style is: / दरशॊजॕ और ्खीोकयख़ ॠ म७, षॖलॎ ऻॖ:

the vertical member of the frame / ঌॕम कॊ ऊĀॊ१धर ऺदĀ

the vertical member of the shutter / षटर कॊ ऊĀॊ१धर ऺदĀ

the member which divides the frame into two vertical portions / शऻ ऺदĀ जख़ ঌॕम दख़
ऊĀॊ१धर भॊगख़ ॠ म७ बॊॠटतॊ ऻॖ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ



None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­the vertical member of the shutter / षटर कॊ ऊĀॊ१धर ऺदĀ 

63)

Question Stimulus :­

Civil

Why is light excluded in BOD incubator? / ঋकॊष कख़ बॎओडॎ इनভॐबॕटर म७ षॊोमल ভख़ॠ नऻॎ ॠ ोकयॊ गयॊ ऻॖ?

to encourage anaerobic conditions / अशॊयशॎय ्Āथोतयख़ ॠ ঋख़Āॊोऻत करनॕ कॕ ोलए

to prevent growth of algae / षॖशॊल कॕ ोशकॊऺ कख़ रख़कनॕ कॕ ोलए

to control aerobes / शॊयॏजॎशख़ ॠ कख़ ोनयॠोআत करनॕ कॕ ोलए

to encourage growth of fungi / कशक कॕ ोशकॊऺ कख़ ঋख़Āॊोऻत करनॕ कॕ ोलए

Correct Answer :­to prevent growth of algae / षॖशॊल कॕ ोशकॊऺ कख़ रख़कनॕ कॕ ोलए 

64)

Question Stimulus :­

Civil

Which type of meter is used to measure hydraulic jump? / ोकऺ ঋकॊर कॕ मॎटर कॊ उपयख़ग ঈशॎय झॠप
(ऻॊइड३ ॗोलक जॠप) कख़ मॊपनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

critical depth meter / ॿॊॠोतक गऻरॊई मॎटर

depth of channel meter / चॖनल मॎटर कॎ गऻरॊई

depth of flow meter / ঋशॊऻ मॎटर कॎ गऻरॊई



depth of flow meter / ঋशॊऻ मॎटर कॎ गऻरॊई

velocity meter / शॕग मॎटर

Correct Answer :­critical depth meter / ॿॊॠोतक गऻरॊई मॎटर 

65)

Question Stimulus :­

CANCELLED

Civil

How much is the effective diameter of a particle for the Stoke’s law to be applicable? / Āख़क कॊ ोनयम
लॊगॐ ऻख़नॕ कॕ ोलए एक कण ঋभॊशॎ ကॊऺ ोकतनॊ ऻख़नॊ चॊोऻए?

less than 0.0002 mm / 0.0002 ोममॎ ऺॕ कम

less than 0.002 mm / 0.002 ोममॎ ऺॕ कम

more than 0.02 mm / 0.02 ोममॎ ऺॕ अोधक

0.2 mm / 0.2 ोममॎ

Correct Answer :­less than 0.0002 mm / 0.0002 ोममॎ ऺॕ कम 

66)

Question Stimulus :­

Civil

What is the velocity of flow at all points in the cross­section of a channel? / एक चॖनल कॕ पॊर अनॏभॊग म७
ऺभॎ ोबĀदॏ ओॠ पर ঋशॊऻ कॊ शॕग ोकतनॊ ऻख़गॊ?



not same / अऺमॊन

same / ऺमॊन

minimum / ကॐनतम

maximum / अोधकतम

Correct Answer :­not same / अऺमॊन 

67)

Question Stimulus :­

CANCELLED

Civil

In Lane’s weighted creep theory, he proposed a weight of _______ for vertical creep and _______
for horizontal creep. / लॕन कॕ भॊौरत ोशऺप१ण ोऺĀॊॠत म७, शऻ ऊĀॊ१धर ोशऺप१ण कॕ ोलए _______ कॕ शजन और ঴ॖोतज
ोशऺप१ण कॕ ोलए _______ कॕ शजन कॊ ঋोतपॊदन करतॊ ऻॖ।

three, one / तॎन, एक

two, one / दख़, एक

three, two / तॎन, दख़

two, three / दख़, तॎन

Correct Answer :­three, one / तॎन, एक 

68)



Question Stimulus :­

Civil

If the sides of a slab simply supported on its edges and spanning in two ways __________, then
the _______________ bending moment is ____________ by 0.50. / योद एक ကॖब कॕ भॏजॊओॠ कख़ कॕशल इऺकॕ
ोकनॊरख़ ॠ पर ऺऻॊरॊ ोदयॊ जॊतॊ ऻॖ और इऺकॊ दख़ तरफॊ ঋऺॊर ________ तख़ ________बॠकन गॏॺက कख़ 0.50 ऺॕ _______ ऻॖ।

are equal, maximum, multiplied / बरॊबर ऻ॰, अोधकतम, गॏणॊ ोकयॊ गयॊ

are not equal, minimum, added / बरॊबर नऻॎ ॠ ऻॖ, ကॐनतम, जख़ीॊ गयॊ

are equal, maximum, divided / बरॊबर ऻ॰, अोधकतम, ोशभॊोजत ोकयॊ गयॊ

are not equal, minimum, multiplied / बरॊबर नऻॎ ॠ ऻॖ, ကॐनतम, गॏणॊ ोकयॊ गयॊ

Correct Answer :­are equal, maximum, multiplied / बरॊबर ऻ॰, अोधकतम, गॏणॊ ोकयॊ गयॊ 

69)

Question Stimulus :­

Civil

The angular velocity is the rate of change of angular_________ of a body. / एक ोनकॊय कॕ _________
कॕ पौरशत१न कॎ दर कख़ कख़णॎय शॕग कऻतॕ ऻॖ।

displacement / ोशĀथॊपन

rotation / घॐण१न

vector / ऺोदष

direction / ोदषॊ



Correct Answer :­displacement / ोशĀथॊपन 

70)

Question Stimulus :­

Civil

Cement ratio for durable concrete is 0.8 for? / ोटकॊऊ कॠ ॿॎट कॕ ोलए ऺॎम७ट कॊ अनॏपॊत ोकऺकॕ ोलए 0.8 ऻख़तॊ ऻॖ?

maximum water / अोधकतम जल

minimum water / ကॐनतम जल

minimum sand / ကॐनतम रॕत

maximum sand / अोधकतम रॕत

Correct Answer :­maximum water / अोधकतम जल 

71)

Question Stimulus :­

Civil

To consider the construction work as minor work, what is the upper limit of the cost of a
construction work if the lower limit is Rs. 20,000? / ोशोनमॊ१ण कॊय१ कख़ मॊमॐलॎ कॊय१ कॕ ॺप म७ ोशचॊर करनॕ पर,
ोकऺॎ ोशोनमॊ१ण कॊय१ कॎ ऊपरॎ ऺॎमॊ ভॊ ऻॖ योद ोनचलॎ ऺॎमॊ Rs. 20,000 ऻॖ?

Rs. 80,0000/­

Rs. 90,000/­

Rs. 1,00,000/­



Rs. 70,000/­

Correct Answer :­Rs. 1,00,000/­ 

72)

Question Stimulus :­

Civil

A truss is called a composite truss when _____. / एक ट३ऺ कख़ एक ऺमঁ ट३ऺ कऻॊ जॊतॊ ऻॖ जब _____|

it has two slopes on each side / इऺकॕ ঋĀॕक ओर दख़ ढलॊन ऻख़तॊ ऻॖ

it is a combination of king and queen post­trusses / यऻ रॊजॊ और रॊनॎ कॕ बॊद ट३ऺ कॊ एक
ॠऺयख़जन ऻॖ

it is made of two different materials / यऻ दख़ अलग अलग ऺॊमঁॎ ऺॕ ोमलकर बनॊ ऻॖ

it has both valleys and hips / इऺम७ घॊोटयॊँ और कॐ Āॊ दख़नख़ ॠ ऻॖ

Correct Answer :­it is made of two different materials / यऻ दख़ अलग अलग ऺॊमঁॎ ऺॕ ोमलकर बनॊ ऻॖ 

73)

Question Stimulus :­

Civil

What kind of capacity is found to be greater in dense sand? / घनॕ रॕत म७ ोकऺ ঋकॊर कॎ ঴मतॊ कॊ अोधक ऻख़नॊ
पॊयॊ जॊतॊ ऻॖ?

bearing capacity / धॊरण करनॕ कॎ ঴मतॊ

pouring capacity / उलॕीनॕ कॎ ঴मतॊ



absorb capacity / अशषख़हण करनॕ कॎ ঴मतॊ

resistance capacity / ঋोतरख़ध करनॕ कॎ ঴मतॊ

Correct Answer :­bearing capacity / धॊरण करनॕ कॎ ঴मतॊ 

74)

Question Stimulus :­

Civil

When a shaft of diameter D is subjected to a twisting moment (T=6) and a bending moment (M=4),
then the equivalent twisting moment (Te) is: / जब एक षॊĀट कॊ ကॊऺ डॎ मॏीनॕ शॊलॕ गॏॺက कॕ (टॎ=6) और शॠकन
गॏॺက (एम=4) कॕ अधॎन रऻतॊ ऻॖ, तब ऺमतॏĀ मॏीनॕ शॊलॊ गॏॺက (टॎई) ोकतनॊ ऻख़गॊ:

7.211

6.211

8.211

9.211

Correct Answer :­7.211 

75)

Question Stimulus :­

Civil

Name of the department which was formed to look after the work of road construction during the
period of Load Dalhousie. / लॊड१ डलऻग़जॎ कॕ षॊऺन कॕ दग़रॊन ऺीक ोनमॊ१ण कॕ कॊम दॕखनॕ कॕ ोलए ोजऺ ोशभॊग कॊ गठन
ोकयॊ गयॊ थॊ, उऺकॊ नॊम बतॊएॠ ?

Public works / लख़क ोनमॊ१ण ोशभॊग



Public works / लख़क ोनमॊ१ण ोशभॊग

private works / ोनजॎ ोनमॊ१ण ोशभॊग

state works / रॊĀकॎय ोनमॊ१ण ोशभॊग

central works / क७ ঈॎय ोनमॊ१ण ोशभॊग

Correct Answer :­Public works / लख़क ोनमॊ१ण ोशभॊग 

76)

Question Stimulus :­

Civil

A saturation line shows the dry density as a function of what content for soil containing no air
voids? / एक  ॠऺत्॑Ā रॕखॊ ोबनॊ ऻशॊ कॕ ौर्ঢयख़ ॠ शॊलॕ ोमĀॎ कॕ ोलए ोकऺ पदॊथ१ कॕ एक कॊय१ कॕ ॺप म७  ॐऺखॕ घनက कख़ ोदखॊतॊ ऻॖ?

a) water / क) पॊनॎ

b) oil / ख) तॕल

c) air / ग) ऻशॊ

d) both a and b / घ) क और ख दख़नख़ ॠ

Correct Answer :­a) water / क) पॊनॎ 

77)

Question Stimulus :­

Civil

How is an equivalent pipe treated for all calculations? / कॖऺॕ ऺभॎ आकलनख़ॠ म७ एक ऺमतॏĀ पॊइप कॊ उपयख़ग ोकयॊ



How is an equivalent pipe treated for all calculations? / कॖऺॕ ऺभॎ आकलनख़ॠ म७ एक ऺमतॏĀ पॊइप कॊ उपयख़ग ोकयॊ
जॊतॊ ऻॖ?

ordinary pipe / ऺॊधॊरण पॊइप

extra ordinary pipe / अऺॊधॊरण पॊइप

hydraulic pipe / ऻॊइड३ ख़ोलक (ঈशॎय) पॊइप

compound pipe /  ॠऺयॏঢ पॊइप

Correct Answer :­ordinary pipe / ऺॊधॊरण पॊइप 

78)

Question Stimulus :­

Civil

A ___________is a device used to lift ___________quantity of water to a greater height when a
large quantity of water is available at a smaller height. / ___________ एक उपकरण ऻॖ ोजऺकॊ उपयख़ग
___________पौरमॊण म७ पॊनॎ कख़ बॽत ऊँचॊई तक उठॊनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ, जब कम ऊँचॊई पर बॽत अोधक पौरमॊण म७ पॊनॎ
ोशĀमॊन रऻतॊ ऻॖ।

hydraulic ram, small / ঈशचॊोलत रॖम, अĀ

centrifugal pump, small / कॕကॊपऺॊरक पॠप, अĀ

jet pump, large / जॕट पॠप, ोशषॊल

screw pump, small / Āॐ  पॠप, अĀ

Correct Answer :­hydraulic ram, small / ঈशचॊोलत रॖम, अĀ 



79)

Question Stimulus :­

Civil

Why is BOD test not well suited to industrial wastes? / बॎओडॎ परॎ঴ण अৢॎ तरऻ ऺॕ औĀख़ोगक कचरॕ कॕ ोलए
अनॏकॐ ल ভख़ॠ नऻॎ ॠ ऻख़तॊ ऻॖ?

it is a slow process / यऻ एक धॎमॎ ঋोॿयॊ ऻॖ

toxic chemicals produce wrong results / जऻरॎलॕ रऺॊयनख़ ॠ गलत पौरणॊम पॖदॊ करतॕ ऻॖ

the waste lacks in nutrients / अपोषĀ पदॊथॵ म७ पख़हक तကख़ॠ म७ कमॎ ऻख़तॎ ऻॖ

Oxidation is incomplete / ऑসॎकरण अधॐरॊ रऻतॊ ऻॖ

Correct Answer :­toxic chemicals produce wrong results / जऻरॎलॕ रऺॊयनख़ ॠ गलत पौरणॊम पॖदॊ करतॕ ऻॖ 

80)

Question Stimulus :­

Civil

What is the ratio of area of flow and wetted perimeter is termed as? / ঋशॊऻ कॕ ঴ॕআ कॊ अनॏपॊत और ोऺঢ
(नम) पौरोध कख़ कऻॊ जॊतॊ ऻॖ?

hydraulic radius / ঈशॎय ोআĀॊ

hydraulic diameter / ঈशॎय ကॊऺ

hydraulic circular diameter / ঈशॎय श॑Āॎय पौरोध

hydraulic velocity / ঈशॎय गोत



Correct Answer :­hydraulic radius / ঈशॎय ोআĀॊ 

81)

Question Stimulus :­

Civil

At the end of the reconnaissance phase, the selected alignment is pegged by using poles of what
height on which the distance between the two pegs is marked? / आशॎ঴ण चरण कॕ अॠत म७, चयोनत  ॠऺरॕखण कॊ
अनॏमॊन ोकतनॕ मॎटर ऊॠ चॕ डॠडॕ कॊ उपयख़ग करकॕ लगॊयॊ जॊतॊ ऻॖ ोजऺ पर दख़ खॐॠटॕ कॕ बॎच कॎ दॐ रॎ कख़ ोचोĀत ोकयॊ जॊतॊ ऻॖ?

2m high / 2 मॎटर ऊँचॕ

2m low / 2 मॎटर नॎचॕ

3m high / 3 मॎटर ऊँचॕ

4m high / 4 मॎटर ऊँचॕ

Correct Answer :­2m high / 2 मॎटर ऊँचॕ 

82)

Question Stimulus :­

Civil

What should be the condition in the pipe as compared to the vapour pressure of a liquid, for the
siphon to work satisfactorily? / ऺॊइफन नलॎ कॕ  ॠऺतख़हजनक  ॠुग ऺॕ कॊय१ करनॕ कॕ ोलए, एक तरल पदॊथ१ कॕ शॊĀ दबॊश कॎ
तॏलनॊ म७ पॊइप म७ ्Āथोत कॖऺॎ ऻख़नॎ चॊोऻए?

minimum pressure / ကॐनतम दबॊश

maximum power / अोधकतम ष्ঢ



minimum velocity / ကॐनतम शॕग

maximum pressure / अोधकतम दबॊश

Correct Answer :­minimum pressure / ကॐनतम दबॊश 

83)

Question Stimulus :­

Civil

The longest road was constructed during the time of ________ (Note: from Lahore to Delhi). / ऺबऺॕ
लॠबॎ ऺीक कॊ ोनमॊ१ण ________ कॕ षॊऺनकॊल कॕ दग़रॊन करॊयॊ गयॊ थॊ (Āॊन द७: लॊऻग़र ऺॕ ोदĀॎ तक)।

Sher Shah Suri / षॕर षॊऻ  ॐऺरॎ

Deepak Suri / दॎपक  ॐऺरॎ

Santosh Suri /  ॠऺतख़ह  ॐऺरॎ

Suresh Suri /  ॏऺरॕष  ॐऺरॎ

Correct Answer :­Sher Shah Suri / षॕर षॊऻ  ॐऺरॎ 

84)

Question Stimulus :­

Civil

How is the field irrigation requirement computed? / खॕत म७ ो ॠऺचॊई कॎ आशĀकतॊ कॎ गणनॊ कॖऺॕ कॎ जॊतॎ ऻॖ?

Net irrigation requirement + conveyance losses / षॏĀ ो ॠऺचॊई कॎ आशĀकतॊ +  ॠऺঋॕहण ऻॊोन



Consumptive use + field application losses / ोशनॊषकॊरॎ उपयख़ग + खॕत म७ अनॏঋयख़ग पर ऻॊोन

Consumptive use + conveyance losses / ोशनॊषकॊरॎ उपयख़ग +  ॠऺঋॕहण घॊटॊ

Net irrigation requirement + field application losses / षॏĀ ो ॠऺचॊई कॎ आशĀकतॊ + खॕत म७
अनॏঋयख़ग पर ऻॊोन

Correct Answer :­Net irrigation requirement + field application losses / षॏĀ ो ॠऺचॊई कॎ आशĀकतॊ + खॕत
म७ अनॏঋयख़ग पर ऻॊोन 

85)

Question Stimulus :­

Civil

Assume that a historical plant with the same process cost Rs. 2 million, with the equipment portion
of the plant costing Rs. 1 million. Determine the cost of a new plant if the equipment has been
determined to cost Rs. 2 million. / मॊन लॎोजए ोक ऺमॊन ঋोॿयॊ शॊलॕ ऐोतऻॊोऺक  ॠऺयॠআ कॎ लॊगत Rs. 2 ोमोलयन ऻॖ, ऺॊथ
ऻॎ  ॠऺयॠআ कॕ उपकरण शॊलॕ भॊग कॎ कॎमत Rs. 1 ोमोलयन ऻॖ। नए  ॠऺयॠআ कॕ लॊगत कॎ गणनॊ कर७  योद उकरणख़ ॠ कॎ लॊगत Rs. 2
ोमोलयन ोनधॊौर१त कॎ गई ऻॖ।

4

5

6

7

Correct Answer :­4 

86)

Question Stimulus :­



Question Stimulus :­

Civil

Which of the following parameters due to changes in atmospheric conditions do not produce
stresses in flexible pavements? / शॊयॏमॠडलॎय पौर्Āथोतयख़ ॠ म७ पौरशत१न कॕ कॊरण ोनĀॊॠोकत म७ ऺॕ कग़न­ऺॊ मॊनदॠड लचॎलॕ
फॏ टपॊथ म७ तनॊश उĀĀ नऻॎ ॠ करतॊ ऻॖ?

temperature / तॊपमॊन

pressure / दशॊब

tension / तनॊश

capacity / धॊौरतॊ 

Correct Answer :­temperature / तॊपमॊन 

87)

Question Stimulus :­

Civil

A land is said to be water­logged when the ________circulation is stopped in the root zone due to
the rise in ________table. / एक ঴ॕআ जल ऺॕ ကॊोशत ऻॖ जब ________ कॕ पौर ॠऺचरण कख़ जी ঴ॕআ म७ ________ कॕ Āर
म७ श्॑Ā ऻख़नॕ कॕ कॊरण बॠद कर ोदयॊ जॊतॊ ऻॖ।

air, water / ऻशॊ, पॊनॎ

water, air / पॊनॎ, ऻशॊ

air, sand / ऻशॊ, रॕत

water, sand / पॊनॎ, रॕत



Correct Answer :­air, water / ऻशॊ, पॊनॎ 

88)

Question Stimulus :­

Civil

The polar modulus for a solid shaft of diameter (D=6) is: / ကॊऺ (डॎ = 6) शॊलॕ ठख़ऺ षॊĀट कॎ जीतॊ कॊ উॏशॎय
मॊपॊॠक _____ ऻॖ:

42.411

41.411

40.411

43.411

Correct Answer :­42.411 

89)

Question Stimulus :­

Civil

Which type of road was constructed during 1540 to 1545 A.D.? / ऺन 1540 ऺॕ 1545 ईĀॎ कॕ दग़रॊन ोकऺ
ऺीक कॊ ोनमॊ१ण ोकयॊ गयॊ थॊ?

grand trunk /  ॰ঁड ट३ ॠक

road trunk / ऺीक ट३ ॠक

city trunk / षऻर ट३ ॠक



town trunk / क़Āॊ ट३ ॠक

Correct Answer :­grand trunk /  ॰ঁड ट३ ॠक 

90)

Question Stimulus :­

Civil

A channel is said to be in scouring when: / एक चॖनल कख़ पौरषख़धन म७ कऻॊ जॊतॊ ऻॖ जब:

the critical velocity ratio is one / ॿॊॠोतक शॕग कॊ अनॏपॊत एक ऻख़तॊ ऻॖ

the critical displacement ratio is one / ॿॊॠोतक ोशĀथॊपन कॊ अनॏपॊत एक ऻख़तॊ ऻॖ

the critical angular ratio is one / ॿॊॠोतक कख़णॎय अनॏपॊत एक ऻख़तॊ ऻॖ

the critical viscous ratio is one / ॿॊॠोतक Āॊनतॊ कॊ अनॏपॊत एक ऻख़तॊ ऻॖ

Correct Answer :­the critical velocity ratio is one / ॿॊॠोतक शॕग कॊ अनॏपॊत एक ऻख़तॊ ऻॖ 

91)

Question Stimulus :­

Civil

When a shaft of diameter (D) is subjected to a twisting moment (T=4) and bending moment (M=2),
then equivalent bending moment (Me) is: / जब एक षॊĀट कॊ ကॊऺ (डॎ) मॏीनॕ शॊलॕ गॏॺက कॕ (टॎ=4) और शॠकन
गॏॺက (एम=2) कॕ अधॎन रऻतॊ ऻॖ, तब ऺमतॏĀ शॠकन गॏॺက (एमई) ोकतनॊ ऻख़गॊ:

3.23

4.23



5.23

6.23

Correct Answer :­3.23 

92)

Question Stimulus :­

Civil

The polar moment of inertia of a solid circular shaft of diameter (D=4) is: / ကॊऺ (डॎ = 4) शॊलॕ ठख़ऺ
श॑Āॊकॊर षॊĀट कॎ जीतॊ कॊ উॏशॎय गॏॺက _____ ऻॖ:

25.13

24.13

23.13

22.13

Correct Answer :­25.13 

93)

Question Stimulus :­

CANCELLED

Civil

The maximum rate of super­elevation (e) is _________, if speed of vehicle is V= 80km/hr.; radius
of curvature (R= 4m). / अोध­उĀयन (ई) कॎ अोधकतम दर ________ ऻॖ, योद शॊऻन कॎ गोत शॎ= 80 ोकमॎ/घॠटॊ ऻॖ.;
और शॿतॊ कॎ ोআĀॊ (आर = 4 मॎटर) ऻ॰।



0.088

0.0445

0.7777

0.333

Correct Answer :­0.088 

94)

Question Stimulus :­

Civil

What is the road within a city or town is called as? / एक षऻर यॊ नगर कॕ भॎतर कॕ ऺीक कख़ ভॊ कऻॊ जॊतॊ ऻॖ?

urban road / षऻरॎ ऺीक

town road / कĀॊ कॎ ऺीक

country road / दॕऻॊत कॎ ऺीक

rural road / ঁॊमॎण ऺीक

Correct Answer :­urban road / षऻरॎ ऺीक 

95)

Question Stimulus :­

Civil

From the following where are Bifurcated stairs commonly used? / ऺॊमॊက ॺप ऺॕ ोनĀोल्खत म७ कऻॊँ ोशभॊोजत

ऺॎोुयख़ ॠ कॊ उपयख़ग ोकयॊ जॊतॊ ऻ॰?



ऺॎोुयख़ ॠ कॊ उपयख़ग ोकयॊ जॊतॊ ऻ॰?

at the entrance of public buildings / ऺॊश१जोनक भशनख़ ॠ कॕ ঋशॕष ကॊर पर

as an emergency stair at the back of the building / भशन कॕ पॎछॕ एक आपॊतकॊलॎन ऺॎुॎ कॕ
ॺप म७

in small residential buildings / छख़टॕ आशॊऺॎय भशनख़ ॠ म७

none of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­at the entrance of public buildings / ऺॊश१जोनक भशनख़ ॠ कॕ ঋशॕष ကॊर पर 

96)

Question Stimulus :­

Civil

What is a relatively fixed point of known elevation above datum called? / आधॊर कॕ ऊपर Āॊत ऊॠ चॊई पर
अपॕ঴ॊक॑त एक ोनोĀत ोबॠदॏ कख़ ভॊ कऻॊ जॊतॊ ऻॖ?

datum point / आधॊर ोबॠदॏ    

bench mark / ब७च मॊक१

reduced level / घटॊ ॽआ Āर

reference level /  ॠऺदभ१ Āर

Correct Answer :­bench mark / ब७च मॊक१  

97)



Question Stimulus :­

Civil

If, the value of g is taken as +9.81 m/s2 for downward motion, then what will be the value for
upward motion? / योद नॎचॕ कॎ ओर गोत कॕ ोलए जॎ कॊ मॊन +9.81 मॎ/ऺॕ2 मॊनॊ जॊतॊ ऻॖ, तख़ ऊपरॎ गोत कॊ मॊन ভॊ ऻख़गॊ?

– 9.81 m/s2

9.81 m/s2

9.00 m/s2

8.91 m/s2

Correct Answer :­– 9.81 m/s2 

98)

Question Stimulus :­

Civil

What does Sludge from a Biological treatment unit contain? / एक जॖोशक उपचॊर इकॊई ऺॕ ोनकलनॕ शॊलॕ कॎची
म७ ভॊ षॊोमल करतॊ ऻॖ?

harmful inorganic sediments / ऻॊोनरोऻत ऻॊोनकॊरक अकॊब१ोनक अशऺॊद

rich in organic matter and bacteria / कॊब१ोनक पदॊथ१ और जॎशॊणॏओॠ ऺॕ ऺम॑Ā

rich in inorganic matter and micro organisms / अकॊब१ोनक पदॊथ१ और  ॐऺ঵ जॎशख़ ॠ ऺॕ ऺम॑Ā

rich in bigger inert solids / ोशषॊल अोॿय पदॊथॵ ऺॕ ऺम॑Ā



Correct Answer :­rich in organic matter and bacteria / कॊब१ोनक पदॊथ१ और जॎशॊणॏओॠ ऺॕ ऺम॑Ā 

99)

Question Stimulus :­

CANCELLED

Civil

The expression for the length of a transition curve (L) in meters is ________ if rate of change of
radial acceleration (C= 4); radius of circular curve in meters (R = 3); and speed of the vehicle (V=
20). /  ॠऺॿमण शॿ कॕ लĀॊई (एल) कॎ अोभက्ঢ ________ ऻॖ योद रॕोडयल (अĀ१ကॊऺॎय) ကरण (ऺॎ=4) म७ पौरशत१न कॎ दर;
मॎटर म७ श॑Āॊकॊर शॿ कॎ ोআĀॊ (आर=3); और शॊऻन कॎ गोत (शॎ =20) ऻॖ।

13.889

14.889

15.889

16.889

Correct Answer :­13.889 

100)

Question Stimulus :­

Civil

The reinforcement in the ____________________is placed below the reinforcement in
the______________. / ____________________म७  ॏऺĀढॎकरण कख़ ____________________म७  ॏऺĀढॎकरण
कॕ नॎचॕ रखॊ जॊतॊ ऻॖ।

short span, long span / छख़टॎ ऺॎ अशोध, लॠबॎ अशोध



long span, short span / लॠबॎ अशोध, छख़टॎ ऺॎ अशोध

short span, short span / छख़टॎ ऺॎ अशोध, छख़टॎ ऺॎ अशोध

long span, long span / लॠबॎ अशोध, लॠबॎ अशोध

Correct Answer :­short span, long span / छख़टॎ ऺॎ अशोध, लॠबॎ अशोध 


